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INTRODUCTION

These educational materials are designed for tieests of the 1 course of
speciality “Economics of structural enterprises’datBusiness accounting and
Audit” to develop their knowledge and skills in Hisg language according to
their profession.

The manual is based on the authentic texts commgriihe economic
problems. It also has the tasks for reading, teding), lexical and grammar tasks,
texts for self-study. It has 10 units. Each unitteins:

- activities on vocabulary;
- activities on gramma.

The manual can be also recommended for studentstady. It is expected

to teach students working at English texts on tb&in, to increase the level of

their knowledge and to form foreign communicatieenpetence.



UNIT Ne 1.
Task Ne 1. Read and memorize the following words and wordombinations.
goods and servicesreBapu Ta MOCIyTH
t0 consume €noxuBaTu
scarce resourcesoémexeHi pecypcu
distribution —po3mo/1ij1, po3MOBCIOIKEHHS
utility - xopucHicTb
economic growth -exkonomiunwmii 3pict
standard of living -piBens xutTs
full employment -1oBHa 3aiiHsaTiCTH
to be willing and able 6yt roroBuM Ta CIPOMOKHUM
economic efficiency -exkonomiuHa eeKTHBHICTh
COSts —Butparu
price level stability -eTa0inbHICTb piBHS LiH
inflation - indursis
deflation —medsiris
circular flow diagram -voxens MaKpOEKOHOMIYHOTO KPYroo0iry
production possibilities frontier mexa BUpOOHUYHMX MOMKIHMBOCTEH
factors of production “4uHHUKH BUPOOHHUIITBA
household -#omorociogapcTBo
output —roToBa NPoOAYKIis
OWNer —BJIaCHUK
revenue -aoxia
curve -kpuBa
What is economics?
The economy is a part of our everyday lives. Wendpauch of our lives
working to produce goods and services. We spendod gart of the remaining
time consuming those goods and services. Even sugple things as reading,

going to university, and lying on the beach camégcribed as economic activities.



Economics- is the study of economies, the study “what eousts do”. In
general terms, economics is a social science coedexith using scarce resources
to obtain the maximum satisfaction of the unlimitedterial wants of society. It
studies the production, distribution, trade, andstmnmption of goods and services.
The aim of economics is to help people to obtaengreatest possible satisfaction
or utility out of the resources at their disposab-elo best they can with what they
have.

The main questions that an economy must answehatellowing:

1. What to produce, and in what quantities?
2. How to produce?
3. For whom to produce?

When economists examine an economy, they not oatyt o know how the
economy answers the three basic questions, butalsowell. They focus on the
means available for achieving major economic gddiese goal are:

a. Economic growth— the production of more and better goods and @esyior
a higher standard of living is desired.

b. Full employment- suitable jobs should be available for all who\aiéng
and able to work.

c. Economic efficiency— we want to get the maximum benefits at the mimmu
costs from the limited productive resources.

d. Price level stability— inflation and deflation should be avoided.

Economists use models to improve our understanmafitige world. The
basic economic models are: the circular flow diagrand the production
possibilities frontierThe circular flow diagram is a model of the economy that
shows how money flows through markets among houdshand firms. In a
monetary economy, households, as resource ownelis,their resources to
businesses and, as consumers, spend the moneyeimeoaived to buy goods and
services. Businesses must buy resources to progocds and services, their
finished products are then sold to households wheroto get revenueslhe

production possibilities frontier is a curve that shows the combinations of output
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that the economy can possibly produce using theada factors of production —

land, labor, and capital. Because resources areesan economy cannot have an

unlimited output of goods and services. As a restlibices must be made on

which goods and services to produce and which tgofoEach point on the

production possibilities curve shows maximum outpiuhe two products. Limited

resources prohibit production of any combination gafods lying outside the

production possibilities curve. When an economypegrating efficiently on its

frontier, it can only produce more of one good byducing less of others.

Task Ne 2. Answer the following questions:

What does economics study?
What are the main questions that an economy musste?
What are major goals of an economy?

What are the basic economic models?

Task Ne 3. Match the words from the left-side column withtheir

definitions from the right-side column:

1.
2.
3.
4.
1. scarce
goods
3. service
4, to consume
5. produce

6. distribution

7. trade

a. physical thirfgd are produced to be sold,
includitilgngs that are manufactured or prepared
and rawterials
b. to buy goods seibices to use yourself
c. the activitytfying and selling or of
excharmggoods or services between people or
cousasi

d. there is not enaafghand it is only available

in @lhmguantities

e. a business whnas& involves doing sth for
custombut not producing goods; the work that
suchusiness does

f. a supply of ach as money, labour, etc. that
an angaation or a person has and can use

g. a helpful arseful effect that sth has
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resource h. an increagéensize, amount or degree of sth
benefit I. the activity making a product available to
customers, for example by supplying it to

shops/stores

10. growth J. to make or grtwngs to be sold, especially in

largeantities

Task Ne 4. Read the sentences and decide if they are troefalse:
We don’t spend much of our lives working to prodgoeds and services.
They focus on the means available for achievingpmagonomic goals.
Ordinary people use models to improve our undedsatgnof the world.
The circular flow diagram is a model of the econdhmt shows how money
flows through markets among households and firms.
Businesses don’t have to buy resources to prodocesgand services.
The production possibilities frontier is a curvattshows the combinations of
output that the economy can possibly produce.

Task Ne 5. Fill in the gaps with the words and expressionsom the text:

1. We spend much of our lives working

2. Economics — is the study of economies, the studyatveconomists do”.
In general terms, economics is a social scienceeroed with using

Scarce resources

3. They focus on the means available for

4. Economists use models to improve our understanafitige world. The
basic economic models are:

5. The production possibilities frontier is a cuthiat shows the

combinations of output that the economy can poggitiduce

Task Ne 6. Find the English equivalents of the following ward-

combinations:



TOBApH Ta MOCIYTH, BATOTOBIISITH, CIIOKUBATH, EKOHOMIYHA JiSTHHICTB,

00MEXEeH1 pecypcH, OTPUMYBATH, PIBEHb KUTTS, IOBHA 3alHATICTD,

KUIBKICTB, IOCATATH LIJIEH, TOMOTOCIIOIAPCTBO, 1H(IISIISA, Aedsiis, J0XI1/I,

roToBa MPOAYKLis, 3a0€3MeuyBaTu JOJATKOBI MICIIsS, BIAMOBIISITHCS,

0e3po0iTHUH, AepKaBHI OpraHi3allii.

Task Ne 7. Use the following words to complete the sentezx below:

production growth economy resource distribution goods service

trade to consume benefit

1

2.

9.

. While exports have improved the domestic mares weak.
There will be a reduced tariff rate on agricultura like fruit and
vegetables.
Sales showed 0.3 per cent in the fisttqu
of the new aircraft will start next manth

. We do not have the to update our compofexare.
How much does the basic phone cost?

between the two countries has increased.
There is an index that measures how content wevieinedhe goods and
services we

European is handled from our centtiearNetherlands.

10. Internet shopping has real for botlcdmsumer and the

environment.

Task Ne 8. Reconstruct the following sentences out in full

1.
2.

N o o M w

Thel/is/our/al/lives/part/of/feconomy/everyday.
To/an/economy/use/economics/economists/analyseatmeyand/
positive.

will/lf/is/increased/number/tuition/of/studentsiftthe.
up/Wel/to/weigh/benefits/the/need/scheme/costs/#tia#o
The/is/from/a/manufacturing/one/US/economy/movioigitservice.
economize/We/costs/need/to/on/electricity.

new/system/allows/efficiently/us/to/operate/moredTh
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Task Ne 9. Translate the sentences into Russian.

1. Internet companies are on a steep growth curve.

2. European distribution is handled from our centréhe Netherlands.

3. In the single market, goods, people and money aarerfreely across
countries.

4. We need to allocate available resources moretaféby.

5. One of the things that has helped manufacturitigaspeople have
continued to consume.,

6. The US was accused of unfair trade practices.

7. A further interest-rate cut may help to boosteénhenomy.

8. Smith’s Catering Services offers the best value.

9. The new car has high production costs.

10. The new regulations will be of benefit to everyaoacerned.

UNIT Ne 2.
Task Ne 1. Read and memorize the following words and wordombinations.
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to break rules HopyuryBatu npaBuina
central authority -HeHTpanbHi KepiBHI OpraHu
to change direction drasticallypaavkanbHo 3MiHIOBaTH HAIIPSIMOK
to conduct transactionspoBoauTy AiIOBI omeparii
different degree of responsibilitypi3uuii piBeHb BiIITOBITAIBHOCTI
to discourage/encourage new idea®3x010/)KyBaTi/CXBaIIOBaTH HOBI 17€1
economic activity -ekoHomMiuHa aKTUBHICTb
incredible variety -HeiimMoBipHa pi3HOMaHITHICTh
interest rates #poreHTHa cTaBKa
means of production zacobu BupoOHHIITBA
private property -ApuBaTHa BIACHICTb
production costs surpatu BUpOOHHUIITBA
storage facilities #H1aTocIpoOMOKHICTh
subsistence level spoxuTKoBHIT piBeHb
to tend to be stagnantwatu cXuabHICTH 10 3aCTOIO
a surplus -Hagmuiok
private ownership #paBo npuBaTHOI BIaCHOCTI
scarcity —-oOMeKeHiCTh
caste system kacroBa cucrema
rigidity — TBepaicTh
subsistence ienyBanHs
stagnant sacriitauit
Traditional Economy
To an economist, economic society presents itsedf mechanism for
survival. The survival of any society depends sralility to provide food,
clothing ans shelter for people. Since these desiare also faced with scarcity
decisions concerning/hat, How andWhom to produce must be made.
All societies have something else in common. Theyehan economic

system or an organised way of providing for the twamd needs of their people.
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The way in which these decisions are made will matee the type of economic
system they have.

In fact, in spite of the appearance of great varieis possible to group
these different economic structures into four broaiggories. These basic types of
economic organization are usually descibedraslitioinal, Market, Command
andMixed economies.

In a society withtraditional economy nearly all economic activity is the
result of ritual and custom. Habit and custom @lsscribe most social behaviour.
Individuals are not free to make decisions basedluat they want or would like
to have. Instead, their roles are defined. Theykwbat goods and services will
be produced, how to produce them, and how suchsyaod services will be
distributed.

The basic economic problems do not arise as prablerbe discussed and
argued about. One follows the path that one was taofollow; a son follows in
the footsteps of his father and uses the same skilil toolsA caste system
provides a good example of the rigidity of a traxhal societyThe production
problems are solved by using land as it has always beeth arseé the worker
carrying out the traditional skills according t@ loir her fixed place in social
structure The distribution problem is solved in a similar manner. There will be
time-honoured methods of sharing out the produdbeharvest and hunt. The
elders, the heads of families, the women and tiidreh will receive shares
according to ancient custom.

The main advantageof the traditional economy is that everyone hasla
in it. This helps to keep economic life stable anchmunity life continuouslhe
main disadvantageof the traditional economy is that it tends tacdisrage new
ideas and even punishes people for breaking ruldeing things differently. So it

tends to be stagnant or fails to grow over time.

Task Ne 2. Answer the following questions:

1. What does the survival of any society depend on?

12
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What are the basic types of economic organization?
What does a caste system provide?

How are the production problerms solved by?

What is the distribution problem?

What is the advantage of the traditional economy?

Task Ne 3. Match the words from the left-side column withtheir

definitions from the right-side column:

1. economist

2. society

3. to produce

4. system

5. agriculture

6. to determine

7. stable

8. share

9. balance

10. solution

a. to discover thedadiout sth; to calculate sth
exactly

b. one part of stht isalivided between two or
more pegpiesinesses, etc

c. the difference in akbaccount between the total

amount of regrcoming in and the total amount

going outegparticular time

d. firmly fixed; notdily to move, change or fail

e. a way of solving algem or dealing with a
difficulttsation

f. people in general Ngyi

togetheccommunities

g. a group of thingeces of equipment, etc. that
are conegobr work together

h. a person who stdr writes about economics
I. to make or gromgys to be sold, especially in
large qubes

] the science maqgbice of farming

Task Ne 4. Read the sentences and decide if they are traefalse:

1. To an economist, economic society presents itsedf mechanism for

survival.

2. All societies don’t have something else in common.
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3. Itis not possible to group these different ecoreostiuctures into four
broad categories.

4. These basic types of economic organization arellysiescibed as
Traditioinal, Market, Command and Mixed ecaomes.

5. In a society with markeeconomy nearly all economic activity is the
result of ritual and custom.

6. The basic economic problems do not arise as prabterbe discussed
and argued about.

7. The main advantage of the traditional economyas ¢&veryone has a
role in it.

Task Ne 5. Fill in the gaps with the words and expressionsom the text:

1. To an economist, economic society presents itself

2. They have an economic system or an organised way

3. These basic types of economic organization arellysiescribed as

4. The basic economic problems do not arise as

5. The main advantage of the traditional economyas th

Task Ne 6. Find the English equivalents of the following wrd-
combinations:

BIDKMBAHHSI CYCIIBLCTBA, BUPOOHHUIITBO 1 pO3MO/I1JI, BEJIMKA PI3HOMAHITHICTh
eKOHOMIYHUX CHUCTEM, MPOKUTKOBUHN PiBEHb, HEMOXITHICTH CYCIIJIbCTBA,
OCHOBHHI HEJIOJIK, IPUBIJICHOBAaHUI KJ1ac CYCITUILCTBA, BAKOHYBATH,
BUPIIIIYBATH, CXOXKHUHU 3, OTPUMYBATH MIATPUMKY, OCHOBHI THUIIH, Bl aCH]

30HHU.

Task Ne 7. Use the following words to complete the sentezg below:
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stable share economist to determine to produce society solution balance

system agriculture

1. A team of experts is trying the caugbehbccident.
2. The firm 25 million tons of steel a year.
3. The bank’s chief has reduced her foréaagrowth in the

eurozone to 0.5%.

50% of the country’s population depend on

The company’s cash increased to $4.5millis quarter.
The roles of men and women in today’s eratg

Next year we hope to have a bigger  of thékeba

They have introduced a new for handlingaints.

© 0o N o g bk

There’s no simple to this problem.

10. Imports have dropped but exports have remained .

Task Ne 8. Reconstruct the following sentences out in full

1. something/all/lcommon/in/societies/else/have

2. in/great/appearance/of/the/spite/of/variety

3. habit/also/most/behaviour/and/prescribe/social@msinost

4. traditional/systems/usually/in/more/areas/the/eaunfare/found/the/

remote/of/world

5. the/economic/is/by/tribes/was/by/Americans/tragiilbsystem/used/Afri
can/and/Native

6. most/live/a/level/individuals/near/subsistence

7. the/advantage/the/economy/that/has/role/it/maitméaiitional/is/

everyone/al/in

Task Ne 9. Translate the sentences into Russian.

1. Economic incentives influence our decisions abduatvand where to
buy.

2. Prices encourage producers to increase their té\aiput.

3. They sell these goods because they want to haxafiafpom such

transactions.

15



Adam Amith describes the principal elements ofdbenomic system.
Prices don’t direct command economy.
This is rather a difficult economic problem for @arciety.

We are examining the mechanism of trade.

© N o 0 bk

Economists classify as needs those goods and setViat are necessary
for survival.

9. More traditional types of economic decisions inwoactivities of
households and firms.

10. Students were discussing the problem of scardignithe dean came.

UNIT Ne 3.

Task Ne 1. Read and memorize the following words and wordombinations:
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economic problems exonomiuni npobGaemu

command economy koMaHIHa CUCTEMA

planned economy miaHoBa eKOHOMIKa

developed country po3BuBaroua kpaina

fertilizers —no6puBa

flexibility — rayuxicts

high quality —8ucoxka sikicTh

lack of incentives -6pak ctumyiis

transportation #pancmopru3zartis

assembly plant sdbupanbauii niex

wage rate fapudna craBka

interest rate ApomeHTHA cTaBKa

economic planning exoHoMiuHe MIaHyBaHHS

public ownership -eycninbHa BaacHICTb

income and wealth #oxox ta 6araTcTBo

better-off samosxuwmit

centralized -sienTpanizoBaHwmii

bureaucratic organizationGtopokpaTiuHa opraHizaiis

advantage/disadvantageiepeBara/ne0.1ik
Command Economy

Another method of solving the economic problenma$® one which has a
long history. This is the method of economic comdhaumere the solutions to the
economic problems are worked out by some all-pavaidthority which imposes
its solutions on the population.

It is more usual to refer to the present-day conthe@ronomies as planned
economies although, strictly speaking, leavingagbenomy to run itself may be
described as a land of econorfptan”. Nevertheless, in time with general usage,
we shall use the terfipplanned economy” to refer to an economy which is subject

to a high degree of direct centralized control.
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It is important to note that no modern economy itheut some elements of
command. In all developed and most underdevelopadtaes, even those
described as capitalist, there is a large meadigevernment control. In the UK,
for example, the government is the biggest busimegge country.

Countries such as Cuba, North Korea and Chinaxamages of command
economies. Groups of high-level technicians, madefiengineers, economists,
computer experts and industry specialists knowiplasiners”, advice leaders
who develop and implement a plan for the entireneowy.

Essentially, it is the planners who decide whatdgoand services will be
produced. If they want ship production expandedraming operations cut back,
they issue the orders to do so. If more food isladethe planners might direct
tractor production to be increased or fertilizerdé imported from the West.
Those same plans might also encourage labour taimesn the farms and direct
that transportation and storage facilities be nadelable to move and hold farm
products.

How are goods produced in a command economy? EHmaets decide
which products will be made. They decide wheretate a new truck assembly
plant and whether the factory will use more lab@mumore modern machinery.

The major advantageof command system is that it can change direction
drastically in a relatively short tim&he major disadvantageof a command
system is that it does not always meet the wardshards of individuals.

The second disadvantagef a command system is the lack of incentives
that encourage people to work hard. In most comneandomies today workers
with different degree of responsibility receive sganwages. In addition, people
seldom lose their jobs regardless of the qualitshefr work. As a result, there is
tendency for some to work just hard enough tgftlduction quotas set by
planners.

The command economy requir@$arge decision-making bureaucracy.
Many clerks, planners and others are needed tatptire system. Most decisions

cannot be made until a number of people are caetgubr a large amount of paper

18



Is processed. This causes production costs toaserand decision-making to slow
down. Thus, a command system does not have thieifigxto deal with day-to-
day problems.
Task Ne 2. Answer the following questions:
What is the method of solving the economic prob2ms
How can the term “planned economy” be explained?
What happens in developed and most underdevelapedres?
What countries are the examples of command ecos@mie

How are goods produced in a command economy?

S T oA

How can bureaucratic organization be explained?

Task Ne 3. Match the words from the left-side column withtheir

definitions from the right-side column:

1. command economy a.. the ability to controlndiuence people,
the) events, etc.

2. population b. having many indiestrand an advanced

eoaomc system

3. power c. the state orifpms of being a leader
4. control d. the fact of owgisth; the legal right to own sth
5. to own e. atype of ecmmosystem in which a

gowetent controls its country’s industries and
dezsdvhat goods should be produced and in

wlzahounts

6. developed f. all the people Mike in a particular area, city
oncxry

7. to implement g. the power to makeislens about how an

orgaation, an area, a country, etc. is run
8. labour h. to make sth thes been officially decided
$tEr happen or be used
9. leadership I. the people wharknor are available for work

arcountry or a company
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10.ownership J. to have sth thdbhgs to you, especially
becaysu have bought it

Task Ne 4. Read the sentences and decide if they are traefalse:

1. Another method of solving the economic problenals® one
which has a long history.

2. It is more seldom to refer to the present-day condreconomies
as planned economies.

3. It is important to note that no modern economy itheut some
elements of command.

4. In all rich countries, even those described astabgti there is a
large measure of government control.

5. In the USA, for example, the government is the egidpusiness in
the country.

6. Countries such as Cuba, North Korea and Chinaxanages of
traditional economies.

7. The planners decide which products will be made.

8. The major advantage of command system is thahitbange
direction drastically in a relatively short time.

Task Ne 5. Fill | the gaps with the words and expressionsom the text:

1. Itis more usual to refer to present-day commarmmheies as

2. Countries such as are examplesarhaand

economies.

3. The major advantage of a command system is

4. The command economy requires

5. Many clerks, planners and others are needed to

6. A command system does not have the flexibility to
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Task Ne 6. Find the English equivalents of the following wrd-
combinations:

320X0YyBAaTH JIO/ICH HAIOJICTIIMBO MPAIOBATH, PIlllyde 3MIHIOBATH
HANpPSMOK, EHTPaJIbHI KEPIBHI OPTaHu, IEPEOPIEHTYBATH, CIIOKUBYL
TOBapH, Opak CTUMYJIIB, 10X1] Ta 6ararcTBO, MpUBaTHA BJIACHICTh, BAXKJIUBI
3aco0u BUPOOHMIITBA, OTPUMYBATH BUIILY OCBITY, HEPIBHI MOMKJIMBOCTI.
Task Ne 7. Use the following words to complete the sentezx below:
ownership developed power command economy leadership to implement

population control labour to own

1. The banks have agreed measures to impust@mer
information

2. One third of the world’s consumes twalghof the world’s
resources.

3. The company had its most successful period urmaer t of

Michael C. Potter.

4. The book was about the former aetdfn Europe and

the Soviet Union.

5. The company has a history of poor relation

6. The report said the banks had too much _ sywall businesses.

7. The restaurant is under new

8. The average citizen in the world uses b¥5kg of paper
per year.

9. The family has sold most of its shares and waklo of the
company.

10. Pfizer ___ the exclusive right to market thegdwithin the US.

Task Ne 8. Reconstruct the following sentences out in full
1. another/of/the/problems/also/which/a/historyimoet'solving/economic/

is/one/has/long
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2. infJUK/example/government/the/business/the/tméHe/is/biggest/in/
country

3. it/the/who/what/and/will/produced/is/planners/die/goods/services/be
4. how/goods/in/command/are/produced/a/economy?

5. the/decide/products/be/planners/which/will/made

6. the/disadvantage/a/system/the/of/second/of/comnsdiadk/incentives
7. many/planners/others/needed/operate/system/cladste/to/the

Task Ne 9. Translate the sentences into Russian.

[EEY

. Factory tools and machines are capital resources.

2. Wages represent income to workers, who own theoua

3. Economists call the physical and mental effort$ pemple put into the
creation of goods and services labour or humaruress.

4. They understand the power of the Internet and wii@rmation can do.

She’s determined to put her new ideas into practic

The chairman assured us that we are safe in bar jo

She’s a qualified accountant.

The new trade agreement should facilitate mgo&lraconomic growth.

© © N o O

The machine runs on solar power.

10. The company is moving to new offices on the otligée of town.

UNIT Ne 4.
Task Ne 1. Read and memorize the following words and wordombinations:

market —puHOK
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buyer -nokyrmenp
seller -mponasernn
transaction -emepartis
to earn sapo0asaTH
market system punkoBa cucrema
free enterprise sinbHE MAMTPUEMCTBO
consumer €noxuBayd
profit - roxon
private property -apuBaTHa BIACHICTb
means of production zacobu BupoOHuIITBA
to own -BosoaiTH
private ownership #puBaTHa BIIacHICTb
to reverse exa3oByBaTtu
intervention -BTpydJaHHs
Market Economy

In a market economy, the questiond/iihat, How andWhom to produce
are made byndividuals and firms acting in their own best interests.doremic
term a market is an arrangement that allows buymdssellers to come together to
conduct transactions.

The state plays little or no part in economic agtiost of the people in
the non-communist world and spend in societies whre still fundamentally
market economies.

The market systemof economic organization is also commonly desctibe
as afree emterpriseor laissez — fairg or capitalist system.

We shall use all these terms to stand for a mag@homy. Strictly speaking
the pure market of laissez-faire system has neustegl. Whenever there has been
some form of political organization, the politi@lthority has execised some
economic functions. It is useful, however, to cdesithe way in which a true

market system would operate because it providegthsa simplified model, and

23



by making modifications to the model we can appndaae more realistic
situations step by step.

There are several other essential elementsnar&et economy.One of
these is private property. Bprivate property” we mean the right of individuals
and business firms to own the means of production.

Although markets exist in traditional and commandremies, thenajor
means of production(firms, factories, farms, mines, etc.) are usuglplicly
owned. That is, they are owned by groups of peoplsy the government. In a
market economy the means of production are owngatilagite individuals.

Private ownership gives people the incentive to use their property t
produce things that will sell and earn them thdipro

This desire to earn the profits is a second ingrdn a market economy.
Often referred to as the profit motive, it providks fuel tha drives sellers to
produce the things that buyers want, and at a finegare willing to pay.

A market economy haseveral major advantageshat traditional and
command economies do not have. First, a marketoaepis flexible and can
adjust to change over time.

When gas process in the United States began tbdéva 1985 and then
decline in 1986, the trend slowly began to reverse.

The second major advantag®f the market economy is the freedom that
exists for everyone involved. Producers are fremdae whatever thay think will
sell. They are also free to produce their producthée most efficient manner.
Consumers on the other hand are free to spendniogiey or buy whatever goods
and services they wish to have.

The third advantage of the market economy is the lack of significant
governement intervention. Except for national deé&ethe government tries to
stay out of the way. As long as there is a compatéamong producers, the market

economy generally takes care itself.
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The final advantageof the market economy is the incredible variety of

goods and services available to consumers. Inddmst any product can and will

be produced so long as there is a buyer for it.

Task Ne 2. Answer the following questions:

N o o ko Dd e

What is a market?

What role does the state play in economic activity?

How can the market system of economic organizdiedescribed?
What elements does a market economy have?

What does private ownership give people?

What advantages does a market economy have?

What is the final advantage of the market economy?

Task Ne 3. Match the words from the left-side column withtheir

definitions from the right-side column:

1. interest

2. to conduct

3. market

4. economic

5. enterprise

6. organization

7. model

8. function

a. a speadivity or purpose of a person or
thing
b. a simpleadggion of a system, used for
explaig how sth works or calculating what
midtappen, etc.
c. the extraney that you have to pay when
ybarrow money
d. what you aae to buy and sell things and
ednnough your work, investments, sales, etc.
e. to orgammd/or do a particular activity
f. businessradé; the amount of trade in a
particular type of goods, services, investrment
g. the motiegt you make in business or by
sellittgngs, especially after paying the costs
invotle
h. connectdth the trade, industry and
development of wealth of a country, an area or a
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society
9. profit I. a conmyeor business
10. money . a grouppebple who form a business or
otlygoup together in order to achieve a
padiar aim

Task Ne 4. Read the sentences and decide if they are traefalse:

1. In a market economy, the questions of What, How\&haém to produce
are made by individuals and firms acting in theundoest interests.

2. In economic term a market is an arrangement thawslbuyers and
sellers to come together to conduct transastio

3. The state plays big part in economic activity.

4. The market system of economic organization is etssomonly described
as a free emterprise or laissez — faire, pitaigst system.

5. Strictly speaking the pure market of laissez-faystem has existed.

6. Since consumers like products with high priceslamdquality,
producers in market economy will try to supply spebducts.

7. There are several other essential elements in ketraconomy. One of
these is private property.

8. The second major advantage of the market econothg iseedom that
exists for everyone involved.

Task Ne 5. Fill in the gaps with the words and expressionsom the text:

1.In a market economy the questions of What, Hoev\&ihom to produce

are made by

2. In economic term a market is

3. Since consumers like products with low priced laigh quality,

4. Those who make the best products for the lopests will make
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5. Other producers will either go out of business o

6. A market economy has several major advantages th

7. The final advantage of the market economy is

Task Ne 6. Find the English equivalents of the following wrd-
combinations:

BJIACHI IHTEPECH, BUCOKA SIKICTh, IPOMOHYBATH MPOAYKTH, BOJIOAITH
3aco0amMu BUPOOHHUIITBA, 3apOo0JISITH MPUOYTOK, HU3bKA I1HA, TIJIATUTH,
rHy4YKa CUCTeMa, HallloHaJIbHa 000pOHa, IEPEOPIEHTYBATHUCS, HE
BTpYYaTHcs, HEHMOBIpPHA PI3HOMAHITHICTb, CIPOIIEHA MOJIETb, 30UpaHHs
[MOJIATKIB.

Task Ne 7. Use the following words to complete the sentezx below:
money function economic interest market profit enterprise to conduct
organization model

He’s the president of a large international ,

The Bank has been working on a new forecasting :

You'll have to pay on the loan.

How much IS there in my account?

a M 0N BE

The company @utdepth interviews with potential users in three
states.

6. Your IS to run your department efficiently.

7. They reported a of $512 million.

8. The hardware Is severely depressed.

9. Exports account for two-thirds of our activity.

10. | have some concerns about the whole

Task Ne 8. Reconstruct the following sentences out in full
1. the/plays/or/part/economic/state/little/no/in/aitsiv

2. aleconomy/several/advantages/market.has/major
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producers/free/make/they/will/are/to/whatever/thsek
there/several/essential/in/market/are/other/elesf@fgtconomy
the/means/production/usually/owned/major/of/areliglyb
a/economy/flexible/can/to/over/market/is/and/adpisinge/time
they/owned/groups/people/by/government/are/by/tfier

Task Ne 9. Translate the sentences into Russian.

a M 0N BE

9.

The outcome is usually more important than thegloin

The country is now the biggest market for somentamnufactures.

Our prices are a lot higher than theirs.

We have done all our business in Euros since 2002.

The lawyers drew up the contracts, so we are nadyréo go ahead with
the deal.

Have you written to them about that shipment oyole want me to

phone them?

. The rate of unemployment was worse last year thigryear.

. Most of successful people are the ones who do hsteming than

talking.

It is difficult to break into export markets now.

10.Daimler Chrysler is very profitable company in Eoeo
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UNIT Ne 5.
Task Ne 1. Read and memorize the following words and wordombinations:
mixed economy -3MiliaHa eKOHOMIKa
to combine xombinyBatu
source -pKeperno
mechanism mexani3m
welfare -106podyT
Institution -oprasizariis
to invest -imBectyBaTn
{0 save saowaKyBaTu
abolition —cka3yBaHHs
tax -momarok
income -moxiz
wealth -6ararcrso
Mixed Economy

Mixed economyis an “economy that combineapitalism andsocialism”.
Some sources prefer the use of “command econonef’‘@ocialism” in defining
a mixed economy.

We have seen that there is some use of the madatanism in planned
economies. Likewise there is some measure of statteol in free market
economies. Here the term mixed economy is usel&sitribes most of the
economies in the noncommunist world. These counaie basically market
economies, but all contain elements of state enserpnd governments in all of
them intervene to modify the operation of marketés. They are mixtures of
command and market economies.

In these mixed economies private property is aromamt institution.
Supporters of the mixed system hold the view thiatge property provides an
important incentive for people to work, save angest. They oppose the abolition

of private property and argue that it is possibleresent great inequalities of
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wealth from arising by the appropriate governmeassures (heavy taxation of
income and wealth).

The mixed economy has come into being as a resultieeasing
government intervention and control in capitaltictries. This development has
been particularly extensive during thé"a@&ntury.

The most famoumixed economyin the world is that of the UK because it
was that the form first evolved.

The components of the mixed economy are:

a) A free enterprise sector, where economic decisamasaken
through the workings of the market.

b) Government regulation of the economy through idgeats,
etc.

C) Public ownership of only some industries.

d) Welfare services, either provided by the stateupped

through state administered schemes.
Task Ne 2. Answer the following questions:
What is a mixed economy?
Is there any measure of state control in free nta&enomies?
What does the term mixed economy describe?
What is an important institution in mixed economy?
What do supporters oppose?

What is the most famous mixed economy in the world?

N o o ko bd e

What are the components of the mixed economy?
Task Ne 3. Match the words from the left-side column withtheir
definitions from the right-side column:
1. mixed economy a. alargpomtant organization that has

a particular purpose, for example a bank
2. to combine bomething that encourages people to
do sth, especially to work harder, spend

more money, etc
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3. source o.officially end a law, a system or an
institution
4. mechanism d. todndwo or more different features
or characteristics
5. institution €. aoonomic system in a country in
which some companies are owned by the
state and some are private
6. incentive f. lecome or to make sth greater in
amount, number, value, etc
7. to save aplace, person or thing that you get
sth from
8. to invest to. avoid wasting sth or using more
than necessary
9. abolish ta buy property, shares, etc. in order
to sell them again and make a profit
10to increase mathod or system for achieving sth

Task Ne 4. Read the sentences and decide if they are traefalse:

1.
2.

N o o A

Mixed economy is an “economy that combines cagmaland socialism”.
Some sources prefer the use of “market economyt’ ‘®eeialism” in

defining a mixed economy.

. Likewise there is not any measure of state comrfee market

economies.

They are mixtures of command and mixed economies.

In these mixed economies private property is aromamt institution.
This development has been particularly extensivinduhe 19 century.
The most famous mixed economy in the world is tfidhe UK because

it was that the form first evolved.

Task Ne 5. Fill in the gaps with the words and expressionsom the text:

1.

Mixed economy is an “economy that
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2. We have seen that there is some use of the market

3. In these mixed economies private

4. The mixed economy has come into being as a rekinteasing

5. The most famous mixed economy in the workthad of the UK

6. The components of the mixed economy are: gorent regulation

7. The components of the mixed economy are: pablicership

Task Ne 6. Find the English equivalents of the following wrd-
combinations:

3MillIaHa €eKOHOMIKa, pUHKOBUN MEXaHi3M, JIepKaBHUI KOHTPOJIb, PUHKOBA
EKOHOMIKa, €JIEMEHTH JICPKABHO1 OpraHizailii, yrpy4JaTUcs, TIpruBaTHA
BJIACHICTh, BXKJIMBA OpraHisailis, HOCii, BAXKJIUBUH MOTHUB, BiJMiHA,
HEPIBHICTb, MTOATKH, PO3BUBATHUCS, EKOHOMIYHI PIllIEHHS, 3araJbHOHAPOIHA
BJIACHICTH, JOCTATOK

Task Ne 7. Use the following words to complete the sentezx below:
to combine to save mechanism mixed economy sourceto increase
institution incentive to invest abolition

1. The rate of inflation duy 2%.

2. IS an economic system in a coumimhich some

companies are owned by the state and some ardepriva

3. Governments and EU share responsitalityeciding most
EU policies.

4. Now is a good time in the property market

5. Bad planning, with bad luck, led to the company’s collapse.

6. Using email will you money on postagdsos

7. These reports are a very useful of information.
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8.
9.

The electorate is split two-to-one against ing the pound.
The fund acted as financing for the tcoason work..

10. They are trying to increase their market shareffgring customers big

financial S.

Task Ne 8. Reconstruct the following sentences out in full

N -

L

. mixed/is/economy/combines/and/economy/that/capitakocialism.

. we/seen/there/some/of/market/in/economies/havé&hege/the/

mechanism/planned.
they/mixtures/command/market/are/of/and/economies.
in/mixed/private/is/important/these/economies/progan/institution.
they/the/of/property/oppose/abolition/private.
the/economy/come/being/a/of/government/and/mixesditia/result/incre

asing/intervention/control.

. the/of/mixed/are/ownership/only/indistries/compotséihe/economy/publ

ic/of some.

Task Ne 9. Translate the sentences into Russian.

1.
2.
3.

It's not just another good product — it's the b@stduct on the market.
Our customers are younger and richer than our cotorse
We spend a lot on modernizing the factory, and itaw very well

equipped.

. Unemployment is very high here because all of thed miners have shut

down.

. How long you have been in change of the Financegddtment.

6. Our new range is a lot more successful than thé@qrs one.

9.

. Have you written to them about that shipment oyole want me to

phone them?

. The company has announced it is going to clos&tasgow factory next

month.

The economics of the project are very encouraging.

10. 1 keep a stack of business cards in my suitcase..
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UNIT Ne 6.
Task Ne 1. Read and memorize the following words and wordombinations:
output -Bumyck
missile —peakTuUBHUIT CHaps, pakeTa
domestic market suyTpilIHii puHOK
household appliancesme0yToBi npuiaau
cast iron waByH
with bias towards Ha KOpUCTb, 3 YXHIOM 10
dye -¢hapoauK
saline -ciin
asset #iHHa puca, HIHHICTb
precipitation -onaau
crop production pocIMHHUIITBO
animal husbandryeapunaunTeo
grain and industrial crops3epHoBi Ta TeXHIYHI KyJIbTYpH
cereals xi0Hi 31aKu
dairy and beef breedingpe3senennst MoI09HOT Ta M’ ICHOT Xy100H
pig raising -cBUHApCTBO
sheep farming BiBuapcTBO
bee-keeping 61 kiILHULITBO
poultry industry 41TaxiBHUIITBO
sufficient - gocraruiit
The economy of Ukraine
On August 24 1991 on the map of the world appeaneelw independent
state with a thousand-year-old history — Ukrain@h&ive an idea of Ukraine’s
economic potential, its resources, and define théef reforms which must be
carried out let us get acquanted with some objedata.
Ukraine is situated in the geographical centrewbige. The country
occupies a territory of 603.7 thousand sq kilonsettékraine’s population is 47.6

million people. Occupying 0.45% of the globe’s swd and being populated by
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0.8% of all earth’s dwellers, Ukraine produces atris%6 of the world’s output.
The country possesses a considerable economigtiredwand agricultural
potential. It may be said to be an industrial-agtigal country, with 2/5 of people
working in industry and about 1/5 working in agftawe. Most other Ukrainians
have jobs in such service industries as educatidrhaalth care.

Speaking about the industry of Ukraine, two brasdteuld be mentioned
as primary in importance. The machine-buildingrissgntly the largest branch of
industry. It accounts for 1/3 of the national inwlia$ output and employs about %
of Ukraine’s workers. The Ukrainian machine-engnmregindustry manufactures
diesel locomotives, railway cars, automobiles,ttes; missiles, sea and river
vessels, as well as equipment for metallurgy, ngniextile industries, electric
motors, and industrial robots. The country alsg$as its domestic market with
many household appliances, including refrigeratwesshing machines, and TV-
sets, among others. The ferrous metallurgy induséwgtred in the Prydniprovya
Economic Region, produces enough iron, cast inod,stéeel to satisfy the needs of
the whole country, with more left over to export.

Mining occupies an important place in the econoffiykraine. Speaking
about Ukrainian mining, one thinks first of the toanes of Donbas. But coal is
not the only mineral mined in the Donetsk and Neatitern Economic Regions.
They have rich mineral deposits and major indudtaae with bias towards heavy
industry. The Donetsk Basin contains plants praayizinc, plastics, soda and
dyes. The area has the greatest concentratiorwad@rxiations in Ukraine.

The Central, Podillya, Northwestern, Carpathian @agital Economic
Regions have supplies of metals and fuel, largesrves of minerals and wood.
But the top position is held by the sugar indudByses of the Lviv plant have
won great popularity.

The Prychornomorya Economic Region is close tes#® Its key sector is
shipbuilding. Local factories produce machinerytfoe power industry, tractors

and harvesters. There are many saline depositsdathemical industry. Southern
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Ukraine is a large producer of grape wines, carinet$ and vegetables. Crimea
ahs rich recreational resources.

Ukraine has always been associated with grain gtamiu Grain harvests
can be up to 50 million metric tons a year. Thatatural because of the
characteristics if the country’s relief and climatée territory of Ukraine is
composed mostly of steppes and plains, and thetgopossesses 25% of all the
black soil in the world. Another agricultural assethe moderately continental
climate with 300-600 millimetres of precipitatioryear.

There are two main branches of agricultural pradaanh Ukraine: crop
production and animal husbandry. Crop producticdhespractice of growing and
harvesting crops. It includes grain and industitajps, meadow culture, fruit and
vegetable raising. Almost ¥ of the cropping areacsupied by cereals such as
winter wheat, maize and legumes, rye, oats anéyaallmong the industrial crops
such as sugar beet, sunflower, flax the leadingipnss occupied by sugar beet.
Close to 40 types of vegetable crops are grownkiraide: potatoes, cabbage,
tomatoes, cucumbers, red beets, carrots, oniong;, gdc. Melon growing is
practised mainly in the south.

Animal husbandry is the practice of breeding odhfanimals and their use.
The most widespread branches of animal husbandrglary and beef cattle
breeding, pig raising, sheep farming and bee-keefdihe poultry industry is
spread through all the provinces. Birds farmedudelchicken, duck, goose,
turkey. There are large mechanized poultry farm@éaluce eggs and meat.

Transport plays a big role in the economy of Ukeaifihe railway network
has some 22,000 kilometres of track. The portskshlde ensure trade contacts
with over 80 countries. The length of navigablesrs/zin Ukraine is close to 5000
kilometres. The air transport has become one optimeipal means of
transportation in Ukraine.

As you see, natural and human resources are sulfifor creating a

developed internal market and becoming a friendly equal partner in the world
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market. There is every reason to believe that Wiraiill quickly enter the family

of Europe’s leading countries.

Task Ne 2. Answer the following questions:

1.Where is Ukraine situated?

2. What does the country possess?

3. What does Ukraine supply its domestic markehdvit

4. What is an important place in the economy ofdihe?

5. What region is close to the sea?

6. What has Ukraine always been associated with?

7. What are two main branches of agricultural potidum in Ukraine?

Task Ne 3. Match the words from the left-side column withtheir

definitions from the right-side column:

1. territory

2. population

3. industrial

4. branch

5. to manufacture

6. appliance

7. satisfaction
8. deposit

a.rmake goods in large quantities from
raw materials or parts, using machinery
b. theoddeeling that you have when you
are happy with sth that you have done,
that you have bought, that has happened
c. &&b office or shop/store belonging to
a large organization or company,
especially a bank
d. edectrical machine that is designed to
do a particular thing in the home, such
as preparing food, heating or cleaning
e. an amaidmhoney that is paid into a
bank or savings account
f. apaof a town, a country or the world
that sb has responsibility for in their work
g. cocteel with industry
h. angterial that produces heat or

power, usually when it is burnt
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9. reserve I.thkk people who live in a particular
area, city or country; the total number of
people who live there

10 fuel jsapply of sth that is available to be
used in the future or when it is needed

Task Ne 4. Read the sentences and decide if they are traefalse:

1. On August 25 1991 on the map of the world appeaneelw independent

state with a thousand-year-old history — Ukraine.

Ukraine is situated in the geographical centrewbige.

Machine-building is presently the largest brancimdtistry.

Ukraine is very rich in mineral resources.

Mining occupies an important place in the econoifinykraine.

The Prychornomorya Economic Region is far fromdéa.

N o o kM Db

Ukraine has not always been associated with graidyztion.
Task Ne 5. Fill in the gaps with the words and expressionsom the text:
1. On August 24 1991 on the map of the world appeared

2. Ukraine is situated

3. The country possesses

4. The country also suuplies its domestic market witimy household

appliances, including

5. Speaking about Ukrainian mining,

6. Local factories produce machinery for the poweustdy,

7. Ukraine has always been associated
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Task Ne 6. Find the English equivalents of the following wrd-
combinations:

He3aJIe)kHa JIep)KaBa, CKOHOMIYHUM MOTEHIIal, 00’ EKTUBHI JaHi,
reorpadiuHuil IEHTpP, HallIOHAIBHUN BUITYCK, YCTATKyBaHHS, BHYTPIIIHINA
PHHOK, MOOYTOBI NMpHUJIaaH, YaBYyH, 3arac, OyayBaHHs KopaOJiB, ClJib,
BUPOOHHMIITBO 3€PHA, OTIA/IH, POCIMHHUIITBO, TBAPUHHUIITBO, XJIi0HI 371aKH,
COHSIIIIHYK, JIOH, O/DKUILHUIITBO, TOCTATHIN.

Task Ne 7. Use the following words to complete the sentezx below:
reserve industrial deposit branch territory fuel satisfaction population

manufacture appliance

1. The cold weather has increased demand for heating .

2. The plant 500 000 cars annually.

3. Our representatives cover a very large

4. Soon the of coal will be exhausted.

5. The retail bank has 170 in Brazil.

6. One third of the world’s consumes two thirds of the world’s
resources.

7. can be made at any branch.

8. There was an expansion in activity offalaeory.

9. They sell a wide range of domestic

10. He looked back on his career with great

Task Ne 8. Reconstruct the following sentences out in full

1. Ukraine/situated/the/centre/Europel/is/in/geogragifot

2. most/Ukrainians/jobs/such/industries/educationthéather/have/in/servi
ce/as/and/care

3. two/should/mentioned/primary/importance/branchdsfia/

4. the/also/its/market/many/appliances/country/sugfdiemestic/with/hous
ehold

5. mining/an/place/the/of/occupies/omportant/in/ecoytsiraine

6. the/Economic/is/to/sea/Prychornomorya/close/the
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7.

Ukraine/always/associated/grain/has/been/with/prodo

Task Ne 9. Translate the sentences into Russian.

o M 0N e

o

8.
9.

Lviv buses are very popular.

Donbas is the region of coal mines.

Ukraine has unique black soil.

The climate in Ukraine is moderately continental.

Present-day independent Ukraine has a considepal#atial to develop
its industry and agriculture.

Ferrous metallurgy produces iron, cast-iron andlste

. Crop production and animal husbandry are two meand¢hes of

agricultural industry.
The top position is held by the machine-buildindustry.

Ukraine is divided into nine economic regions.

10.Ukraine has enough natural and human resourcesateca developed

internal market.
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UNIT Ne 7.
Task Ne 1. Read and memorize the following words and wordombinations.
to abolish import tariffs BiaminsTi Taprdu Ha IMITOPT
capital-incentive commodity kamitanomicTKuii ToBap
to compute paxysaru
consideration eymkeHHs
custom duty muto
to deny access to rivalssaiiobiratu BTpy4aHHIO KOHKYPEHTIB
domestic industry HamioHabHA IPOMHUCIIOBICTh
to establish links scranoBmoBath 3B’ I3k1
to exceed fepeBHUIIyBaTH
to extend fommproBatu
to foster -migTpumMyBaTH
to gain —maTu BHroy
iIn comparison with -HopiBHSHHO 3
labour force -pob6oya cuna
labour-intensive commodity spynomicTkuii ToBap
land-intensive commodity einbcbkorocnogapcbka MpoIyKIlis
on a global scale ycBiToBoMy mMaciiTadi
productivity -mpoayKTUBHICTb
relative efficiency -signocHa e)eKTHBHICTb
restriction -oOmexxeHHs
total output —sarapHuUt 0O6CAT TPOTYKITil
trade flow —roprosuii motik
the Pacific Rim «paiau Tuxookeancbkoro 6acerny
volume -oGc¢sr
uneven HepiBHOMIPHUN
International Trade
The world is increasingly divided into trade block&e world’s two

most powerful economies, the United States andthvepean Union. Have
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established links with neighbouring countries aadydaccess to rivals. Other
major trading countries, like the exporters in Baific Rim and the big
agricultural exporting nations, are creating lodsate groupings to foster their
interests. The formation of free trade zones aadketblocks is one of the major
Issues facing the world economy. The main worldisié blocks are:

The European Union (EU)

Trade Flow — exports $813 bn.; imports $801 bn.

TheEU has become the most powerful trading block invibdd with
GDP now exceeding that of the United States. Membfustria, Belgium,
Finland, France, Germany, Greece, Ireland, Luxemtdletherlands, Portugal,
Spain, Sweden, UK.

North American Free Trade Agreement (NAFTA)

Trade Flow — exports $1,017 bn.; imports $1,277 bn.

The United States has linked with Canada and Mexidorm a free
trade zone, and hopes to extend that to the resdtof America.

The Asia — Pacific Economic Cooperation forum (APE(

Trade Flow — exports $2,592 bn.; imports $2,581

The APEC is a loose grouping of 21 countries wheehagreed to
facilitate free trade. Its members range from Claind Russia to the United States,
Japan and Australia, and account for 45% of waddd.

But why do nations trade? International tradenseans by which
nations can specialize, increases the producfitiieir resources, and thereby
realize a larger total output. Nations can gaisjpgcializing in those products
which they can produce with greatest relative gfficy and by trading for those
goods they cannot produce efficiently.

World trade is based on two considerations:uheven distribution of
economic resourceamong nations, and the fact that the efficient potion of
various goods requirgmrticular techniques or combinations of resources
Japan, for example, has a large and well-educatexlit force; hence Japan can

produce efficiently (at low cost) a variety of ggog@hose production requires
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much skilled labour (labour — intensive commoditiés contrast, Australia has
vast amounts of land in comparison with its humaeh @apital resources and hence
can cheaply produce wheat, wool, and meat (lamdrerisive commodities).
Industrially advanced nations are in a positiongramuce cheaply a variety of
automobiles, agricultural equipment, machinery, emeimicals (capital — intensive
commodities).

The trade balance- is computed as the difference between expods an
imports:

Trade balance = exports — imports

On a global scale, imports must equal exportsgesavery good exported
by one country must be imported by another.

Although the potential gains from world trade aeeh@aps clear, some
producers have an interest in restricting inteameti trade. Resistance to
international trade arises from the fact that thparts mean fewer jobs and less
iIncome for some domestic industries. The meanestficting trade are many and
diverse.

Embargoes.The sure-fire way to restrict trade is simply lioneate it.

To do so, a country need only impose an embargaxparts or imports, or both.

Tariffs. One of the most popular and visible restrictiongrade is the
tariffs, a special tax imposed on imported goodsifis, also called “custom duty”
on imported goods make them more expensive to danwsmsumers, and thus
less competitive with domestically produced goods.

Quotas. Tariffs helps to reduce the flow of imports bysiag imports
price. As an alternative barrier to trade, a couoain impose quotas, restriction on
the quantity of a particular good that may be ingar

Voluntary restrain agreement. The essence of these agreements is a
promise to reduce the volume of trade: “voluntangpta”.

The World Trade Organization helps to promote free trade by

persuading countries to abolish import tariffs #melother barriers to open
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markets. The WTO was established in 1995 and nwsvi&¥ countires with 30
more nations waiting to join.
Task Ne 2. Answer the following questions:
1. What is the major issue facing the world economy?
2. What are the main trade blocks?
3. What is international trade?
4. What is the trade balance?
5. What does resistance to international trade mean?
6. What are the means of restricting trade?
7.What is the WTO?
Task Ne 3. Match the words from the left-side column withtheir
definitions from the right-side column:
1. import a. @fficial order that prevents trade with
another country
2. export b. #netivity of buying and selling or of
exchanging goods or services between
people or countries
3. trade balance c. tHéedence in value between imports
and exports of goods over a particular
period
4. embargo d. aeysof international trade in which
there are no restrictions or taxes on
imports and exports
5. tariff ¢he total value of all the goods and
services produced by a country in one
year
6. quota f.r@guct or service that is brought into
one country from another
7.free trade g. #iality to do sth well with no waste

of time or money
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8. GDP h. aghwuct or service that is sold and sent
or supplied to another country

9. trade tax that is paid on goods coming into
or going out of a country

10 efficiency J. thenited number or amount of people

or things that is officially allowed

Task Ne 4. Read the sentences and decide if they are traefalse:

1.
2.

The world is increasingly divided into trade blocks
The world’s two most powerful economies, the Unigtdtes and the United
Kingdom.

. The UK has become the most powerful trading blocthe world with GDP

now exceeding that of the United States.

. The United States has linked with Canada and Mexidorm a free trade

zone, and hopes to extend that to the rdsatfi America.

. The APEC is a loose grouping of 20 countries wheehegreed to facilitate

free trade.

. The sure-fire way to restrict trade is simply tonghate it.

. Quotas helps to reduce the flow of imports by raysmports price.

Task Ne 5. Fill in the gaps with the words and expressionsom the text:

1. The world is increasingly divided into

2. The world’s two most are the United States and the

European Union.
3. The formation of free trade zones and trade bleskse of the major

issues facing

4. International trade is a means by which nationsicarease the

of their resources.

5. Nations can gain by in those products which they can

produce with greatest relative efficiency.
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6. On a global scale, imports must exports, since every good

exported by one country must be imported by another

7. Some products have an interest in international trade.

Task Ne 6. Find the English equivalents of the following wrd-
combinations:
30Ha BIJILHOI TOPTIBII, IIUPOKE TOPTOBE YIPyMyBaHHS, IMiABUIIYBaTH
IPOAYKTUBHICTb, BITHOCHA €()eKTUBHICTh, HEPIBHOMIPHUHN PO3MO/IL,
KkBasTi(hikoBaHa mparlsi, OOMEXKEHHS TOPTiBIIi, KIJIbKICTh IEBHOTO TOBApY,
CIOKMBa4 Ha BHYTPIIIHBOMY PUHKY, €()€KTHBHE BUPOOHUIITBO, HU3bKI
BUTpPATH, MUTO, BIAMIHATH Tapu(u, BCTAHOBIIOBATH KBOTH, HalllOHAJIbHA
MIPOMUCJIIOBICTb.

Task Ne 7. Use the following words to complete the sentezx below:
tariff export import efficiency free trade quota trade balance trade GDP
embargo
1. We combined the two departments to boost and save costs.

2. Education provided to foreign students is congdéo be a service

High barriers protect domestic industry.
The government has put an on oil exports.
_____ between the two countries has increased.
Our largest agricultural Is wheat.

The country’s rose to a record surplus.

The company introduced a strict import ___ on grain.

© © N o 0O bk~ W

Tourism contributes about 5% of .

10. The pact encourages in the region.

Task Ne 8. Reconstruct the following sentences out in full

1. the/is/divided/trade/world/increasingly/into/blo¢ks

2. the/has/the/powerful/block/the/with/GDP/EU/becomegirirading/in/
world/a.

3. international/is/means/which/can/be/of/resourcadéfa/by/nations/
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8.
9.

productivity/their.
4. tariffs/to/the/of/by/imports/help/reduce/flow/imgsfraising/price
5. the/of/lagreements/a/to/the/of/a/quota/essenceltbgsemise/reduce/
volume/trade/voluntary
6. the/ Trade/helps/promote/trade/World/Organizatwivee/
7. the/balance/computed/the/between/and/trade/isfies&hce/exports/
Imports
Task Ne 9. Translate the sentences into Russian.
The latest car industry plan includes tariff exelom for the local
manufacturers.
Some domestic producers had been harmed by cimgeyts.
We combined the two departments to boost effigiemd save costs.
The EU is negotiating a free-trade agreement @itle.
Total exports of goods and services to the EU bys&% last year.
The US was accused of unfair trade practices.
The balance of trade is an important part of antigis balance of
payments.
GDP grew by 0.5 per cent in the fourth quarter.

The government has embargoed all grain salestodantry.

10. He never takes his full quota of holidays.
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UNIT Ne 8.
Task Ne 1. Read and memorize the following words and wordombinations.
chain of distribution mepesxa peaizarii
extractive industry Bumo0yBHa TPOMUCIIOBICTH
intangible goods #ematepiaibHi TOBapu
manufacturing industry supoOHHYa IPOMHUCIIOBICTh
packaging ynaxyBaHHs
processing industry repepoOHa IpOMHUCIIOBICTh
public services -AepxaBHi ciryxOu
shipping —1epeBe3eHHs BaHTaXy
storing —36epiranHs ToBapy
tangible goods marepiajibHI ToOBapu
vehicle —3aci0, criocio
Production

In microeconomicsproduction is simply the conversion of inputs into
outputs.It is an economic process that uses resstioccreate a commodity that is
suitable for exchange. This can include manufaogystoring, shipping and
packaging. Some economists define production bycaslbll economic activity
other than consumption.

Production is a process, and as such it occursghrome and space.
Since it is a flow concept, production is measwaed a rate of output per period
of time”. There ar¢hree aspectsof production processes:

1. the quantity of the commodity produced,;

2. the form of the good produced,;

3. the temporal and spatial distribution of the comityoplroduced.

There are three stages in the process of makiegldal products from
raw materials:

1. Extractive industry.

The raw materials are extracted from natural resesjrfor example the

miner mines iron ore and the farmer grows wheat.
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2. Processing industry.

The raw materials are processed into a form s@it&lfurther use, for
example iron is made into steel and the wheat mennato flour.

3. Manufacturing industry.

The results of the processing stage are mades@mw-finished and
finished goods for example the steel is made into knives andftber is made
into bread. Finished goods are goods which are @Esm themselves, for
example steel spoons. Semi-finished goods mussdenaled before thay can be
used, for example wooden knife handles and stafd kiades.

All the goods can be grouped into two general caieg — consumer and
indusrtial. Goods purcshased to satisfy persoréfamily needs are consumer
goods. Goods bought for the use in a firm's openatior to make other products
are industrial goods. The buyer’s intent — or thienate use of the product —
determines the classification of an item. An eledlrill is a consumer good if you
use it at home. At the same time an electric gridln industrial good if you use it
in the maintenance of your business.

Normally the word good brings to mind a physicglkeah such as an
automobile, a television set, or a soft drink. Amel usually use the expression
goods and services to distinguish between physlgalkcts and intangible ones.
But in thinking about physical products, their imamce lies not so much in
owning them as in using them to satisfy our waWts.don’t buy a car to look at
but because it supplies a transportation servieed@n't buy a blender to admire
but because it supplies a cooking service. Thugsipal products are really
vehicles that deliver services to us.

Services are also supplied by other vehicles, aggtersons. These
people do not contribute directly to productiont &re needed for example to
transport the goods from the manufacturer to tistorner, to insure the goods etc.
These people render services. There are seypes of services:

1. Public services:

People in public services are employed by the gowent, for
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example civil servants and teachers.

2. Private services:

Private services are rendered by skilled people thieir own
organizations, for example lawyers and doctorgivape practices.

3. Consumer services:

Consumer services are services used by peopleimetveryday life,
electricians and hairdressers.

4. Commercial services:

Commercial services are rendered by people whoeaded for the
efficient distribution of goods, for example exmrg, bankers, agents.

Task Ne 2. Answer the following questions:

1. What is production?

2. What are the aspects of production process?

3. How many stages are there in the production proafesgking

products?

4. What categories can all the goods be grouped into?

5. What is a good?

6. What is a service?

7. What types of services do you know?

Task Ne 3. Match the words from the left-side column withtheir
definitions from the right-side column:

1. vehicle a. theeinvaty of carrying goods from one
place to another by ship or by air, road or
rail

2. finished b. th®pess of keeping sth in a particular
place until it is needed; the space where
things can be kept

3. raw material c. machinesls, parts, etc. that are
produced for use in industry rather than

by the public
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4. public service d. thegwotion of goods from raw
materials, especially in factories
5. shipping e. agrot or a raw material, such as
grain, coffee, cotton or metals, that can
be bought and sold in large quantities,
especially between countries
6. storage f. g@r@rson or thing that is involved in
producing goods or providing services
7.industrial goods g. a carsdorry/truck, etc
8. commodity h. (aboygraduct) that has been put
together from different parts or materials
and is fully completed
9. input inatural or basic substance that is used
to make sth in an industrial process
10. industry |. agee such as transport or health care
that a government or an official
organization provides for people in
general in a particular society
Task Ne 4. Read the sentences and decide if they are traefalse:
1. In macroeconomics, production is simply the coneersf inputs into
outputs.
2. Some economists define production broadly as alhemic activity other
than consumption.
3. There are four aspects of production processes.
4. The raw materials are extracted from industriabueses.
5. The results of the processing stage areenmad semi-finished and
finished goods.
6. All the goods can be grouped into two genesitégories — natural and
industrtial.

7. Services are also supplied by other vehicle) as persons.
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Task Ne 5. Fill in the gaps with the words and expressionsom the text:

1. In microeconomics, Is simply the conversion of inputs into

outputs.

2. Production is a process, and as such it occurs

3. There are three stages of making saleable products from

raw materials.

4. The raw materials are extracted fromoah resources,

5. The results of the processing stagerade into

6. All the goods can be grouped into — consumer and

indusrtial.

7. Services are also supplied by other vehicles,

Task Ne 6. Find the English equivalents of the following wrd-
combinations:

BUPOOHUIITBO, TIPOIIEC MEPETBOPEHHS, CTBOPIOBATH TOBAPH Ta MOCIIYTH,
30epiranHs TOBapy, BiIBAHTAXKEHHsI, TOBapH, IPUIATHI IS IPOJAXKY,
CUPOBHHA, IepepoOHa MPOMHCIIOBICTh, TOTOBUH MPOAYKT, Ha1aBaTH
MOCJIYTH, 3aI0BOJIBHSITH OCOOUCTI MOTPeOH, HaMip MOKYMIIS, PO3PI3HITH
MaTepiajibHI T HeMaTepiadbHl IPEeIMETH, CIIOKUBY1 TOCIYTH, KOMEPIIIHH1
MIOCITYTH.

Task Ne 7. Use the following words to complete the sentezg below:
finished commodity industry vehicle raw material shipping storage input
public service industrial goods

1. were improved in this area.

2. They want to eliminate import duties on most consuand

3. They raised import duties to protect local

4. The company is renewing its fleet of

5. We offer free for orders over $99.
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6. Time is a precious

7. Manufacturers are trying to lower their stocks of goods.
8. We have had problems with the supply of to the factory.
9. The goods are in , Waiting to be shipped.

10. Women provide 25% of the labour in farming.

Task Ne 8. Reconstruct the following sentences out in full
1. production/simply/conversion/inputs/outputs/is/giBhto/
2. production/a/and/such/occurs/time/space/is/proasssthrough/and/
3. there/three/of/processes/are/aspects/production
4. there/three/in/process/making/products/raw/areé¢stidige/of/saleable/fro
m/materials
5. all/lgoods/be/into/general - consumer/ndustrial/ganiped/two/
categpries/and
6. an/drill/a/good/you/itthome/electric/is/consumeuse/at
7. services/also/by/vehicle/as/are/supplied/other/gerbons
Task Ne 9. Translate the sentences into Russian.
. Input prices rose by 2.8% in December.
We need to cut our storage costs
. Imports of finished steel have decreased sharply.

. The plant produces the raw material for makingyester fibre.

1

2

3

4

5. The canal is open to shipping.
6. The global mining industry is dominated by fougka groups.
7. The meeting had already started when | arrived.

8. The price paid for the use of labour is called vgage

9. Labour is one of the three leading elements of pctdn.

10.We carefully examined the samples of goods whiely thad sent us.

53



UNIT Ne 9.
Task Ne 1. Read and memorize the following words and wordombinations.
to bestow -#agaBatH, gapyBaTH
ceteris paribus (other things being equad) #mmx piBHEX YMOB
complement -eymyTHui TOBap
conspicuous eheKTHUM, pa3roUnii
demand -momut, motpeda
to demand -Bumararu, norpedyBaTu
demand curve #puBa nonuTy
demand schedulerpadik monury
determinant -Bu3HauHuUK, BUPIIIAILHUI QaKTOp
Giffen goods -roBap I'ipdena
the good in question reBap, mpo sAKHii ijae MOBa
inferior goods -HenoBHOLIHHI TOBapy (TOBApH, IMOMKUT Ha SAKI PHU 3POCTI TOXOIIB
CIIOJKMBAYiB I1a/a€)
normal goods HopmaibHi ToBapu (TOBapH, MOMMT Ha K1 30LIBIIYETHCS 13
JOXO/IIB CIIO)KHBAYa)
opportunity cost -anpTepHAaTHBHA BapPTICTh
to plot a graph «pecnutu rpadik
Demand

One of the most important building blocks of ecormanalysis is the
concept of demandemand- the ability and willingness to buy specific
guantities of a good at alternative process irnvargtime period.A demand exists
only if someone is willing and able to pay for theod — that is, exchange money
for a good or service in the marketplace. For exapgconsumer may be willing
to purchase 2lb of potatoes if the price is $0.&5lp. However, the same
consumer may be willing to purchase only 1 Ib € tirice is $1.00 per Ib. These
changes we can reflect on the demand schedulemarmt®schedule can be
represented on a graph as a line or curve by pipthie quantity demanded at each

price. A demand curve is a graphical illustratidra @emand schedule. Each point
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on the curve refers to a specific quantity that laél demanded at a given price. A
common feature of demand curves is their downwiagkes As the price of a good
falls, people tend to demand more of it. This iseerelationship between price and
guantity is so common we refer to as the law of aetn Thusthe law of demand
can be stated formally as follows: in any markétgothings being equal, the
guantity of a good or service that buyers demandd¢o rise as its price falls and
to fall as its price rises.

As mentioned above, the general form of a demangkds that it is
downward sloping. But there may be rare examplepofls that have upward
sloping demand curves. A good which demand curgeahaupward slope is
known as a Giffen good. The existence of Giffendgoan be explained by
conspicuous consumption; that is the desire to lowyna good due to the social
status its ownership implies and bestowes.

It is necessary to say about the movements alanddmand curve and
shifts in the demand curve.

Economists speak of a movement along demand cgraechange in
guantity demanded. Such a movement representsdrgation to a change in the
price of the good in question, other things beiggat. The degree to which price
changes affet demand will depend upon the elastfidemand for a particular
item.

If total revenue increased following a price desegalemand would be
elastic. If the price decrease led to a decreags#ahrevenue, the demand for the
item would be described as inelastic. The demanddme goods and services will
be inelastic for one or more of the following re@s.o

- They are necessities.
- Itis difficult to find substitutes.
- They are relatively inexpensive.

- Itis difficult to delay a purchase.
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Economists speak of a shift in the demand cuneedsange in demand.
Such a shift represents a change in buyers plarseddy some factors than the
price of the good in question. The determinantdeshand include:

- Tastes (desire for this or that good.) Sometimesdlthanges
happen rapidly, as is the case in such areas aggoapusic,
clothing styles and fast foods. The demand cureethese goods
shift often.

- Income (of the consumer). As real income risespjeebuy more
of some goods (which economists call normal goads)less of
what are called inferior goods. Urban mass traarsit railroad
transportation are classic examples of inferiordgod hat is why
the usage of both these modes of travel declinetagoatically as
postwar incomes were rising and more people cdidca
automobiles.

- Other goods (their availability and price). Anotlr#fuence on
demand is the price of substitutes.

For example, when the price of Toyota Tercels ried®er things being
equal, demand for Tercels falls and demand forasisgentras, a substitute, rises.
Also important is the price of complements, or gotitht are used together. When
the price of gasoline rises, the demand for cdls fa

- Expectations (for income, price, tastéfg)eople expect the price
of a good to rise relative to the prices of thedgoor expect the opportunity cost of
acquiring the good to increase in some other wasy will step up their rate of
purchase before the change takes place.

Task Ne 2. Answer the following questions:

1.What is demand?

2 What does the law of demand describe?

3.What is a demand curve? What is its common feature?
4 How can you explain the existemce of Giffen goods?

5When is demand described as elastic?
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6.Why is demand for some goods ans services inefastic
7.What is the difference between a change in a gyasidmanded and a

change in demand?

Task Ne 3. Match the words from the left-side column withtheir

definitions from the right-side column:

1.demand
2. Inverse
3. elasticity of

demand

4. revenue

5. available

6. inferior good

7. demand curve

8. consumer

9. purchase

10. quantity

a. espe who buys goods or services for
their own use

ke #ct or process of buying sth

citem of poorer quality that people buy
less of as their incomes rise
d. aroant or a number of sth
e. tesire or need of customers for goods
or services which they want to louyise
f. thetent to which people want to buy

more or less of a product or sEFvi

when its price changes
g. the maheay is received by a business
usually from selling goods or seed

h. @t can get, buy or use

I. 0Ife in amount or position to another
thing
j. adion a graph that shows the
relationship between the price of a
product or service and the quartiftit

that people buy

Task Ne 4. Read the sentences and decide if they are traefalse:

1. One of the most important building blocks of ecoroanalysis is the

concept of demand.
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2. A demand curve can be represented on a graphiras arlcurve by
plotting the quantity demanded at each price.

3. This inverse relationship between price and quargiso common we
refer to as the law of supply.

4. The general form of a demand curve is that it wmeard sloping.

5. A service which demand curve has an upward slokeas/n as a Giffen
good.

6. It is necessary to say about the movements alandemand curve and
shifts in the demand curve.

7. If total revenue increased following a price desesalemand would be
inelastic.

Task Ne 5. Fill in the gaps with the words and expressionsom the text:

1. One of the most important of

economic analysis is the concept of demand.

2. A demand curve is a of a demand
schedule.

3. As mentioned above, the general form of a demangkcu
IS

4. of a movement along demand

curve as a change in quantity demanded.

5. Economists speak of a shift in the demand curve

6. Sometimes these changes happen rapidly, as issedrt
such areas

7. Another influence on demand is

Task Ne 6. Find the English equivalents of the following ward-
combinations:
ITIOIINT, TOBApP, 3arajJibHa O3HaKad, KpHUBa IIOIIHUTY, 3aKOH IIOIIUTY, KiJIBKiCTB,

1iHa, roBap l'ipdena, ekoHOMICTH, MOKYIEIb, 3MiHA IIHH, €TaCTUYHICTb
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MOTIUTY, JOX1Jl, CHYDKCHHS I[IHU, HeeJIACTUYHUHN, HEOOX1AHICTh, 3aMiHa,
KyIyBaTH, BU3HAYHUK, HEMOBHOLIIHHI TOBApH, HOPMaJIbHI TOBapH,
ajbTEpHATHBHA BAPTICTh, KIIACUYHUHN TIPUKJIIAJ, I[IHA CYITyTHOT'O TOBapy.

Task Ne 7. Use the following words to complete the sentezx below:
elasticity of demand revenue purchase demand quantity inverse consumer
available inferior good demand curve

1. The factory initially produced a small of lamps and these sold

quickly.
2. The for luxury goods tends to be higher than for

necessities.
for new cars has fallen.

. Interest rate cuts have persuaded to spend more.

. How many visitors to the store actually made a ?

from local advertisers fell by 6%..

3
4
5. Thereis an relationship between shares and the dollar.
6
7
8

. An increase in incomes caused a shift in the for

automobiles.

9. The new service will be to customers next month..

10. As real income rises, people buy more of soowelg and less of what

are called

Task Ne 8. Reconstruct the following sentences out in full

1. one/the/important/blocks/economic/is/concept/denafrdost/building/
of/analysis/the/of
a/feature/demand/is/downward/common/of/curvesiisieppe
the/form/a/curve/that/is/sloping/general/of/demamal/is/downward
a/which/curve/an/slope/known/a/good/demand/has/uphvedas/Giffen
economists/of/movement/demand/as/chnge/quantitgksakalong/curve/
a/in/demanded
economists/of/shift/the/curve/al/in/speak/a/in/aahge/demand/

ok~ WD

o

7. another/on/is/price/substitutes/influence/demarmddth
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Task Ne 9. Translate the sentences into Russian.

1. The price is determined by the balance between démad supply.

2. New products account for 40% of our total revenue.

3. The new service has been slow to take off amonguoers.

4. The size of demand is in inverse proportion tophee.

5. This offer is subject to availability.

6. Elasticity of demand measures how sensitive corssiiare to changes

in the price of a product..

~

The guarantee is valid for one year from the dafurchase.

8. Materials are cheaper when bought in large questit

©

Each point on the demand curve represents thdiyudemanded at a
particular price.

10. Operating profits have shown a rise of 3%.
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UNIT Ne 10.
Task Ne 1. Read and memorize the following words and wordombinations.
supply -npomo3wuiis
determinant -BupimanbHU GaKTop
tax -nmoxarok
Improvement iroxpamieHHs
to induce cnonykaru
incentive -3a0x04eHHs
supply curve «puBa Ipono3ulii
to intersect fiepecikatu
equilibrium -piBunoBara
surplus -HamHIIoK
to exceed mepeBepiyBaTH
vice versa HaBmaku
after-tax income -Hoxij micis CIUIaTh MOJaTKy
upward sloping -Hoxua HampaBeHa JOropu
shortage -#ecraua, nedinut
Supply and Market Price
Supply is the quantity of goods that producers are willamgl able to sell
at alternative prices in a given period.
The determinants of supply include:
- Technology
- Factor costs
- Other goods
- Taxes
- Expectations
- Number of sellers
Word processors, for example, are a technolognptaovement over
standard typewriters. By making it easier to “proelutyping, thay induce people
to supply more typing services at every price.
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When tax rates are high, people get to keep ledseafhicome they earn.
This reduction in after-tax income may make sonepfeeless willing to supply
goods and services.

Expectations are also important. If you expect aigirices, lower costs,
or reduced taxes, you may be more willing to peryear skills. On the other
hand, if you have had bad expectations about fuyne may find something else
to do.

Supply shifts when the determinants change.

The law of supplystates that the quantity of a goods suppliedgivan
time period increases as its price increases.

Why does the quantity of a product supplied chahie price rises or
falls? The answer is that producers supply thingadke a profit. The higher the
price, the greater the incentive to produce andfselproduct.

According to the law of supply the general formacfupply curve is
upward sloping and it indicates that larger quagitvill be offered at higher
prices. An increase in supply implies a rightwandtf the supply curve.

The point where the supply curve and demand cunteggect is the
equilibrium price. Thusgquilibrium or market price is the price at which the
guantity of a good demanded in a given time peeigaials the quantity supplied.

At any higher price there will b& surplus— the quantity supplied
exceeds the quantity demanded and at any lower @sbortage— the quantity
demanded exceed the quantity supplied at a giviea.@nly the equilibrium price
clears the market. At that price, everyone whoilkng to buy may do so, and
everyone who wants to sell at that price may do so.

Shifts in demand or supply will affect market privéhen everything
else is held constsnt, an increase in demandesllt in an increase in market
price, and vice versa. Similarly, and increaseuppdy will result in a decrease in

price, and vice versa.
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Task Ne 2. Answer the following questions:
1.What is supply?
2. What are the determinants of supply?
3. What does the law of supply state?
4. What is the general form of a supply curve? Wiuats it mean?
5. What is market price?
6. How do shifts in demand and supply affect pfices
Task Ne 3. Match the words from the left-side column withtheir

definitions from the right-side column:

1.supply a. an amount that is extra or more than
you need
2.tax b. a situation when there is not enough

of the people or things that are
needed
3.incentive . tlke money that a person, a region, a
country, etc. earns from work, from
investing money, from busisieetc
4 .equilibrium al situation in which the amount of
particular goods or services that
people want to budemand) at a
particular price equals tiheoant
that businesses want to suppl
qupply)
5.surplus e. something that is given to sb to
persuade them to do sth
6.shortage f. the act of providing sth or making it
available to be used
7.rate g. to be greater than a particular
number or amount

8.to exceed h. a fixed amount of money that is
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charged or paid for sth
9.inducement mbney that you have to pay to the
government so that it can pay for
public services
10.income something that encourages people
to do sth, especially to work harder,
spend more money, etc

Task Ne 4. Read the sentences and decide if they are traefalse:

1. Supplyis the quantity of goods that producers are wilkmgl
able to sell at alternative prices in a given perio

2. When tax rates are low, people get to keep letfseahcome
they earn.

Expectations are not also important.

4. Supply shifts when the determinants are stable.

The law of supply states that the quantity of adgosupplied
in a given time period increases as its price @ses.

6. The lower the price, the greater the incentivertmpce and
sell the product.

7. Equilibrium or market price is the price at whitte tquantity
of a good demanded in a giveretperiod equals the
guantity supplied.

Task Ne 5. Fill in the gaps with the words and expressionsom the text:

1. Supplyis the quantity of goods that
at alternative pricas in
given period.
2. When tax rates are high, people
3. If you expect , YO ma

be more willing to perfect your skills.
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4. states that the quantity of agood

supplied in a given time period increases as itepr
increases.

5. The answer is that producers supply things

Is the price at which the tifjyan

of a good demanded in a giveretperiod equals the
guantity supplied.
7. Shifts in will affect marketpri

Task Ne 6. Find the English equivalents of the following wrd-
combinations:
HecTaya, HaJ[JTUIIIOK, TIOXMJIa HallpaBJieHa I0TOpH, PIBHOBAra,
3MYIIIYBaTH, 3aKOH MPOIO3UIIii, KITBKICTh TOBApPY, aJbTepHATUBHA I[1HA,
MOJAaTOK, BUINIA 111HA, 3HWKYBATH TOJIaTKH, BEJIMKa KUIbKICTh,
BUpIIIATBEHUIN (aKTOp, KpUBa MPOIO3HULIii, IEPEeBepLIyBaTH, HABIAKH,
BIUIMBATH HA PUHKOBY II1HY.
Task Ne 7. Use the following words to complete the sentezx below:
supply tax incentive equilibrium surplus shortage rate to exceed
inducement income
1. They receive a proportion of their from slle of
goods and services.
2. There are serious labour in some sector
3. They are trying to increase their market sharefgring

customers big financial

4. A delay in the of parts stopped worlatglant for a
week.

5. She was offered a large block of shares as an to take
the job.

6. After 6 p.m. customers can make telephone calischeaper
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7. Skilled workers are in In some regions.

8. They pay over €100 000 a year in

9. He believes that the steel market is reaching an

10. While demand supply, prices will continue to rise.

Task Ne 8. Reconstruct the following sentences out in full
1. supply/the/of/thet/are/and/to/at/prices/a/periddliantity/goods/
producers/willing/able/sell/alternative/in/given
2. word/are/technological/over/typewriters/processgmiprovement
/standard
3. expectations/also/are/important
4. supply/when/determinants/shifts/the/change
5. the/the/the/the/to/and/the/higher/price/greateefmive/produce/
sell/product
6. shifts/demand/supply/affect/price/in/or/will/market
7. the/form/a/curve/upward/general/of/supply/is/siapin
Task Ne 9. Translate the sentences into Russian.
1. Their achievements have exceeded expectations.
2. Under the incentive scheme, directors earn aa 88% of their pay
if they meet profit targets.
It is vital for a manufacturer to have a reliablgoply base.
Tourism is a major source of income for the area.

Skilled workers are in surplus in some regions.

3
4
5
6. They have put a tax on cigarettes.
7. The market is in equilibrium.

8. There was no shortage of candidates.

9. Rates vary considerably between insurance companies
10. The company had provided unlawful inducementsoats to

recommend their drugs.
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Texts for supplementary reading

Text Ne 1. Economics as a science.

Although the content and character of economiceatine described
briefly, numerouswriters haveattempted that. An especially useless, though
once popular, example is: “Economics is what ecostsnalo.”

Similarly, anotable economist of the last century Alfred Marshall edll
economics “a study of mankind in the ordinary bassof life.” Lionel Robbins in
the 1930s described economics as “the scienceoidelamongcarcemeans to
accomplish unlimited ends.”

During much of modern history, especially in theateenth century,
economics was called simply “the science of wealtbss seriously, George
Bernard Shaw was credited in the early 1900s wiglwitticism that “economics
Is the science whogwactitioners, even if all were laid end to end, would not
reach agreement.”

We may make better progress by comparing economithsother subjects.
Like every other discipline that attempts to explabserved facts, economics
comprisesavast collection of discriptive material organized ardumcentratore
of theoretical principles. The manner in which tlecal principles are formulated
and used in applications varies greatly from onenee to another. Like
psychology, economics draws much oftiteoretical corefrom intuition,casual
observation and “common knowledge about human nature.” Léteomomy,
economics is largely nonexperimental. Like metemyg] economics is relatively
inexact, as isveather forecasting Like particle physics and molercular
biology, economics deals with an array of closelnterrelated phenomena.

Like such disciplines as art, fantasy writing, neaiiatics, metaphysics,
cosmology, and the like, economics attracts diffepeople for different reasons:
“One person’s meat is another’s poison.” Thoughlisitiplines differ, all are
remarkably similar in one respect: all are meartoiovey an interesting ,

persuasive, and intellectually satisfying storywts®elected aspects of experience.
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As Einstein once put it: “Science is the attempnike the chaotic diversity of our
sense-experience correspond to a logically uniystem of thought.”

Economics deals with data on income, employmemtgediture, interest
rates, prices and individual activities of prodanticonsumption, transportation,
and trade. Economics deals directly with ontyng fraction of the whole
spectrum of human behavior, and sortirege of problems considered by
economists is relatively narrow. Contrary to popwginion, economics does not
normally include such things as personal finanag/sato start a small business,
etc.; in relation to everyday life, the economssiriore like an astronomer than a
weather forecaster, more like a physical chemast pharmacist, more like a
professor of hydrodynamics thamplamber.

In principle almost angonceivableproblem, from marriage, suicide, capital
punishment, and religious observance to tooth lmgskirug abuse, extramarital
affairs, and mall shopping, might serve as an aliggcsome economist’s
attention. There is, after all, no clear divisi@tiween “economic” and
“noneconomic” phenomena. In practice, however, enosts have generally
found it expedient to leave the physical and Idesces to those groups that first
claimed them, though not always. In recent years econsrhestenvaded
territory once claimed exclusively by political setists and sociologists, not to
mention territories claimed by physical anthropadtgy experimental
psychologists, and paleontologists.

Vocabulary
NUMErous -MHOrOYMCICHHbIMN
to attempt sroneITaTecs
notable —pumevarebHBINA
Scarce -€KyIHbli, OrPaHUYEHHBIN
witticism —ocrpora, myTka
practitioner —repanent
to comprise -Bkiro4ath B ceOs

vast —o01mupHbIN, TPOMaTHBIN
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core —po
casual observationsreBceHeBHbIC HAOIIOICHUS
weather forecasting Bporuo3 moroipl

array —MaccuB, Macca, MHOYKECTBO

closely interrelated #ecHo B3anMocCBs3aHHbBIE
phenomena s#sacHus

to convey —iepenasarb

iIncome —1oxox

employment 8aHsaTocTh

expenditure sarpatbl, pacxo/Ibl

interest rate -ApoleHTHAs CTaBKa

range —psn

pharmacist -papmarieBt

plumber —BogonpoBoxunK

conceivable -wMbIcTIMBI, BEpOSTHBIN

expedient -tiej1ecoo0pa3HbIiA, OAX OIS

to claim —mpunuceiBath cebde, mpeTeH0BaAThH

to invade Broprarbcs
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Text Ne 2. Adam Smith.

Economics, like every other intellectual disciplih@s its roots in early
Creece and Rome; but economics was first considesedbranch of domestic
science dealing with such matters as the manageshslaves and thallocation
of manure among alternative agricultural uses. In teeival of learning that
followed the Middle Ages, economiesnergedas a branch of moral philosophy
concerned with such issues as the ethics of Idaneist and the “justness” of
market-determined wages and prices.

By the beginning of the eighteenth century, thgextthad lost most of its
theological overtones and had taken shape as demcadiscipline, largerly as a
branch of political theory dealing with problemsgaivernmentntervention in
economicaffairs.

Then in 1776 the Scottish moral philosopher Adanitispublished the first
edition of his monumentélnquiry into the Nature and Causes of the Wealth o
Nations”, and economics soon became an independent science.

The Vision of Adam Smith

Smith lived in an age when the right of rulersnhposearbitrary and
oppressiveestrictions on the political and economic liberties of theibgcts was
coming under strong attack throughout the civiligeatld. As other men of that
time werearguing that democracy could and should replace autocrethe
sphere of politics, so Adam Smith argued thatsez-fairecould and should
replace government direction and regulation in eaans. The “should” was so
mixed with the “could” portion of Smith’s analydisat much of his book seemed
almost as much a political tract as a work of smefMhat gave the book lasting
significancewas the Smith’s strong arguments that the econantitities of
individuals would be more effectively coordinatédaugh the indirect and
impersonal action of natural forces of self-inteaasd competition than through
the direct and frequentiil-considered actions of government authorities. Smith
opened minds to the existence of a “grand desigetonomic affairs similar to

that which Newton had earlier shown to exist inr@m of physical phenomena.
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The impact of Smith’s ideas upon his contemporasias widespread and
immediate. As one modern scientist observed: “Befadam Smith there had been
much economic discussion; with him we reach thgestd discussing economics.”

That Smith’s vision of the economy ever have bemrsidered original
might seem strange to modern minds, but that wbeldecause we now see
economic phenomena in the light of his concept#mitwo leading scholars
recently remarked, “The immediate “common sensaWam to the question,

“What will an economy motivated by greed and cdfgcbby a large number of
different agents look like?” is probably: Therelvaé chaos.” That is certainly the
answer that would have been given by most of Smitbhhtemporaries — before
thay read his book. The greatness of Smith’s actisnmpent lies precisely in the
fact that he, unlike his predecessors, was abilein& awayextraneous
complications and sperceivean order in economic affairs that common sense did
notreveal.

It is one thing, of course, to say that Smith’saaption of economic
phenomena is original, another to suggest thatrifesponds to contemporary
experience. According to Smith, society in its emoit aspect is a vast concourse
of people held together by thesire of each to exchange goods and services with
others. Each person is concerned directly onlytthér his own self-interest, but
in pursuing that aim each “is led by an invisibént” to promote the interests of
othersForbidden by law and social custom &xquire the property of other
people by forcefraud, or stealth, each persoattempts to maximize his own
gainsfrom trade by specializing in the production obde and services for which
he has a comparative advantage, trading part gfrbduce for the produce of
others on the best terms he cdmain. As aconsequencgthe “natural forces” of
market competition — the result of each persongitag to “buy cheap and sell
dear” — come into play to establish equality betwdemand and supply for each
commodity at rates of exchange.

The economic system is a self-regulating mechathsity like the human

body, tends naturally toward a state of equilibrififeft to itself.
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allocation of manure pacnpenenenne opraHu4ecKux ynoopeHui
revival —Bo3poskieHue, BO30OHOBIICHHUE
wages -3apaboTHasl riara

t0 emerge HosBAATHCS

loan interest -apoLieHTHAs CTaBKa 110 3aliMy
intervention -BMemaTeIbCTBO

affair —neno

Impose -HayaraTh

arbitrary —ipon3BobHBII

restrictions -erpann4enus

to argue -enopurth

significance -3HaYUMOCTh, 3HAYUTCIIBHOCTD
il considered -#eob6aymMaHHbIi

realm —oGaacTs, chepa

Impact —Bo3zeiicTBre

contemporaries eoBpeMeHHHUKH

perceive -BocnpuHUMATh

predecessors BpeecTBEHHUKN

reveal —oOHapyX1UBaTh, OTKPHIBATh
laissez-faire -HeBMemaTenbCTBO

forbidden —anpernieHnbIi

acquire —ipuobperaTh

fraud —mommeHHIYECTBO

stealth «paxa

to attempt seITaTeCs

obtain —1ocTaBaTh, MoOJIy4aTh
consequence rocCiIeacTBUC

equilibrium —paBHoBecue

commodity —toBap, MPOaYKT
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Text Ne 3. Classical liberalism

In the seventeenth century, liberalism emergeti@sadical philosophy that
attackedauthoritarianism and paternalism in the political sphere by defegdhe
rights of the individual against the commands oharchs and otheulers. The
seventeenth-century philosopher John Locke questictaims to political
authority based on birth, social statpsyilege, anddivine right. Political
authority eithederived from the consent of the governed or else lagitimate.

Later in the eighteenth century, liberals addedtbieon of the ‘rules of
law’, the idea that government in its legislatiapacity had t@nact general rules
that apply to all citizens equally. The substitataf the rule of people for the rule
of law created &apricious, uncertain, and sometimes cruel community life sThi
early variety of liberalism — often termed ‘clasgitberalism’ — stimulated the
development of the social sciences by insisting et holds society together
and promotes an orderly commercial economy is theuah interplay of the
passions and interests of ordinary citizens imtheket.

A basic principle of liberal thought is the indivials are the best and most
accurate judges of their own interests aad be relied uponto pursue those
interests with greatedication and creativity. The mighty arm of the state with i
web of regulations and bureaucratic agents oft&s daore harm than good when
trying to substitute administrative methods of aigation for impersonal market
processes thafpring out of self-interested individual action.

The philosopher and American revolutionary, Thoiase, wrote that
‘society is created by our wants, government byvaakedness.’

Classical liberals are not anarchists and at ting least recommend a
minimal state: a state that protects lives, defgreperty rights, and enforces
prvite contracts. A great many classical liberalsch as Adam Smith and the later
classical school of economists) went somewhat énrdimd requested that the state
build and maintain certain public works (bridgesnals, highwaydarbors,
recreational parks, and so on), maintain standing armies, providéketucation,

promote invention and innovation, aimdervenein the market on a limited scale
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for specific human purposes such as the enactmer@rdorcementof child labor
laws.

Generally, the classical liberal believes in theegal rule of laissez-faire
and wants to preserve self-regulation market pseEseas much as possible. The
classical liberal igonfident that with the enactment of strict constitutional
safeguards and the elimination of monopoly anchtheer-ending varieties of
special-interest legislation, peace and materi@dji@ss are within the reach of all
societies and all social classes.

The leading works of classical liberalism includéa#n Smith’sWealth of
Nations(1776), Herbert Spencer$he Man versus the StgtE892), Friedrich A.
Hayek’sConstitution of Libertyf1960), Ludwig von Mises’kiberalism: A Socio-
Economic Expositio1962), and Milton FriedmanGapitalism and Freedom
(1962).
authoritarianism -aBToputapusm
paternalism -mateprani3m
rulers —paBurenu
privilege —mpuBwmierus
divine right —0okecTBeHHOE MPaBO
derived —1pousBoaHOEC
illegitimate —xe JeruTUMHBINA
to enact 8BoIUTH
capricious -IpuXOoTJIMBbINA, KallPU3HBIH
to rely on (upon) -HosaraThcst Ha KOro-1u00 (4T0-1H00)
dedication ocBseHnE
Spring out 4IporCXONUTh U3
wickedness 3100H0CTE
harbour -6yxTa
recreational parks mapku otipixa
Intervene -BMemnuBaThCs

to enforce -eneaute 3a cOOIOIEHUEM
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Text Ne 4. Macroeconomics.

The word macroeconomics means economics in the.ldige
macroeconomist’s concerns are with such globaltgqresas total production,
total employment, the rate of change of overall paes, the rate of economic
growth, and so on. The questions asked by the macroeconarais terms of
broad aggregates — what determines the spendiayadinsumers as opposed to
the microeconomic question of how the spendingsil@es ofindividual
householdsare made; what determines the capital spendiad] 6fms combined
as opposed to the decision to build a new factgrg bingle firm; what
deterimines total unemployment in the economy g®e@d to why there have
beenlayoffs in a specific industry.

Marcoeconomists measure ovesdbnomic activity, analyze the
determinants of such activity by the use of macroeconomic tiiefmrecast future
economic activity; and attempt to formulate poliegponses designedreconcile
forecasts with target values of production, emplegtnand prices.

An important task of macroeconomics is to develgyswf aggregating the
valuesof the economic activities of individuals and fsnmtomeaningful totals.
To this end such concepts@®ss domestic product (GDP), national income,
personal income, and personalisposablencome have been developed.

Macroeconomic analysis attempts to explain howntagnitudes of the
principal macroeconomic variables are determinetraw they interact. And
through the development of theories of bhusiness cyclendeconomic growth,
macroeconomics helps to expalin the dynamics of th@se aggregates move over
time.

Macroeconomics is concerned with such major pasisees as the
attainment andmaintenanceof full employment angbrice stability.
Considerable effort must first be expended to detex what goals could be
achieved. Experience teaches that it would notdssiple toeliminate inflation
entirely without inducing a major recession combimath high unemployment

target would produckbor shortagesand wage inflation.
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During the 1960s it was believed that unemployncendd be reduced to 4
percent of the labor force without causing inflatitlore recent experience
suggests thatduction of unemployment to 5.5 percent of the labour fasce
about as well as we can do.
total production -e0r1iast mpoOU3BOAUTEIHLHOCTD
total employment -e01mas 3aHaTOCTH
the rate of change of overall pricegeadpunnent n3menenmii mpeaeIbHbIN IEH
rate of economic growth semmbl 3KOHOMHYECKOI'O pOCTa
broad aggregatesmacirabHbIe COBOKYITHOCTH
individual households #HUBHTYaTBEHBIE X035 CTBA
layoff — yBonmbHeHHE
economic activity -skoHoOMHUYECKasi aKTHBHOCTb
determinants -Hokasarenu, onpeaeIUTe I
values 4ieHHoctu
meaningful totals suaunmeie utoru — gross domestic product (GDPpasnoBoii
BHyTpeHHuit mpoaykt (BBII)
national income HaroHaIBHBINA JOXO0.T
personal income s#4YHbIN 10X0/1
personal disposable incomersunblii 10X0/ MOCIIE yIUIaThl HAJIOTOB
business cycle sxoHOMHYECKHU ITUKIT
economic growth skonomuueckuii poct
attainment -aocTmxeHHS
maintenance #ojiepxanue
price stability —cTaOuIbHOCT IIEH
eliminate —mmxkBuIMpPOBaTH
labor shortage #exBatka paboucii CHib

reduction —ymeHbIcHHE
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Text Ne 5. Microeconomics.

The word ‘micro’ means small, and microeconomicgngeeconomics in
the small. The optimizing behavior of individualitsnrsuch as households and
firms provides the foundation for microeconomics.

Microeconomists majnvestigateindividual markets or even the economy
as a whole, but their analyses are derived fromagggegation of the behavior of
individual units. Microeconomic theory is used ei@ely in many areas of
applied economicsFor example, it is used in industrial organizati@abor
economics, international trade, cost-benefit amsys1d many other economic
subfields. The tools and analyses of microeconopiggide a common ground,
and even a language, for economists interesteavidarange of problems.

At one time there was a shatstinction in both methodology anslibject
matter between microeconomics and macroeconomics.

The methodological distinction became somevithatred during 1970s as
more and more macroeconomic analyses were buitt aporoeconomic
foundations. Nonetheless, major distinctions rerbaitween the two major
branches of economics. For example, the microec@tasrinterested in the
determination of individual prices and relativeges (i.e..exchange ratios
between goods), whereas the macroeconomist iestegl more in the general
price level and its change over time.

Optimization plays a key role in microeconomics. The consumer i
assumed to maximizadility or satisfaction subject to theonstraintsimposed by
income or income earning power. The producer igrasg to maximize profit or
minimize cost subject to the technological constsaunder which the firm
operates. Optimization of social welfare sometimeake criterion for the
determination of public policy.

Opportunity cost is an important concept in microeconomics. Many
courses of action are valued in terms of whabizificed so that they might be

undertaken. For example, the opportunity cost of a public pcbjs the value of
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the additional goods that the private sector wialde produced with the resources
used for the public project.
Theory of the Consumer

The individual consumer or household is assumgubssess atility
function, which specifies the satisfaction, whistgained from the consumption of
alternative bundles of goods. The consumer’s incomecome-earning power
determines which bundles are available to the aoesuThe consumer then
selects a bundle that gives the highest possité t& utility. With few
exceptions, the consumer is treated as a price talkat is, the consumer is free to
choose whatever quantities incoaiws but has nanfluence over prevailing
market price. In ordao maximize utility the consumer purchases goods so that
the subjective rate of substitution for each pagaods as indicated by the
consumer’s utility function equals the objectiveeraf substitution given by the
ratio of their market prices. This basic utility-xmaization analysis has been
modified and expanded in many different ways.

Theory of the Producer

The individual producer or firm is assumed to pesseproduction function,
which specifies the quantity of output produceé &scntion of the quantities of
the inputs used in production. The produces\s®enueequals the quantity of
output produced and sold times its price, and dst to the producer equals the
sum of the quantities of inputs purchased and tisegb their prices. Profit is the
difference between revenue and cost. The proda@ssumed to maximize profits
subject to the technology given by the productiomction. Profit maximization
requires that the prodicer use each factor to at @iwhich its marginal
contribution to revenue equals its marginal contrdn to cost.

Under pure competition, the producer is a pricertakho may sell at the
going market price whatever has been produced. tundaopoly (one seller) the
producer recognizes that price declines as satesx@randed, and under
monopsony (one buyer) the producer recognizediteatrice paid for an input

Increases as purchases are increased.
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A producer’s cost function gives production cosadanction of output
level on the assumption that the producer combim@ds to minimize production
cost. Profit maximization using revenue and costfions requires that the
producer equate the decrement in revenue from pnoglwne less unit (called
marginal revenue) to the corresponding decremetsh (called marginal cost).
Under pure competition, marginal revenue equalepConsequently, the
producer equates marginal cost of production tatieg market price.
behavior 410BencHne
to investigate #ccienoBath
applied economics mpukiTagHas 3JKOHOMHUKA
distinction —otiuune
subject 1ipeamer, cyobekT
matter —somnpoc, marepua
to blur —3aTymanuBath
to remain -ocraBaThCs
exchange ratio eraBka oOMeHa
optimization —onTumu3anys
utility — moyie3HOCTh
utility function —¢yskIus noaesHocTu
constraints -erpann4yeHnue
monopsony -MOHOIICOHUS (pBIHOK, Ha KOTOPOM BBICTYIIACT JIMIIb OAWH
MOKYIIaTesIh TOBapa, yCIyTH WIH pecypca)
opportunity cost -abTepHATUBHBIC U3ICPKKU
to sacrifice -1oxepTBOBaTH
to undertake B3st1h Ha cebs
t0o maximize -mMakcuMalbHO YBEIMYHUBATh

revenue -1oxo/Inl
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Text Ne 6. The Law of Demand

Demand is &ey conceptin both macroeconomics and microeconomics. In
the former, consumption is mainly a function ofanwe; whereas in the latter,
consumption or demand is primarily, but not exalabi, a function of price. This
analysis of demand relates to microeconomic theory.

The theory of demand was mosihyplicit in the writings of classical
economists before the late nineteenth century.gdtitheory rests on the
foundations laid by Marshall (1890), Edgeworth (18&bd Pareto (1896).
Marshall views demand incardinal context, in which utility could be quantified.
Most contemporary economigisld the approachtaken by Edgeworth and
Pareto, in which demand has only ordinal charasttesiand in which indifference
or preferences become central to the analysis.

Much economic analysis focuses on the relation éetwprices and
guantities demanded, the other variables bpmgisionally held constant. At the
various prices that could prevail in a market dyisome period of time, different
guantities of a good or service would be boughtnBed, then, is considered as a
list of prices and quantities, with one quantity éach possible price. With price
on the vertical axis and quantity on the horizoatas, the demand curgopes
downward from left to right, signifying that smaller quamnd$ are bought at
higher prices and larger quantities are boughavaéf prices. The inverse relation
between price and quantity is usually called tinedddemand. The law rests on
two foundations. One is the theory of the consurier]ogic of which shows that
the consumer responds to lower prices by buyingenine other foundation is
empirical, with innumerable studies of demand ituakmarkets having
demonstrated the existence of downward-sloping ddmoarves.

Exceptions to the law of demand are theiosa of theorists. The best-
known exception is the Giffen effect — a consumegrsbmore, not less of a
commodity at higher prices when a negative incoffecedominates over the

substitution effect.
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Another is the/ehien effect- some commodities are theoretically wanted
solely for their higher prices. The higher thesegs are, the more the use of such
commodities fulfills the requirements cdnspicuous consumptionand thus the
stronger the demand for them.
in the former -8 npormiom
implicit — moapa3ymeBaromuii
hold the approach spunepxuBaThCst B3rIIS10B
approach -soaxon
provisionally —-spemenHo
demand curve #pwuBas cripoca
to slope down emyckarbes
to signify —o3nauatb
substitution effect sddekr 3amenenus

conspicuous consumptionrerpebdiieHne 3aMeTHOE
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Text Ne 7. Law of Supply

Supply is a fundamental concept in both macro-rammoeconomic
analysis. In macroeconomic theoaggregate supplyis mainly a function of
expected sales to consumers, businesses, and gwrés In microanalysis
supply is mainly a function of prices and costpmfduction. A moreomplex
view of the supply curve for a commodity is itsat@n between quantities
forthcoming and the possible current prices of that commod#yexpected future
prices, the prices of alternative goods and sesyittee costs of the producer and
time.

Opportunity Costs

Incorporated in the supply curve of goods and sesvare opportunity costs.
Economists differ fronaccountantsand from Internal Revenue by includibgth
explicit and implicit costs, or opportunity costs. Implicit costs arentyabusiness
costs for wages, rents, and interest, whereas apptyrcosts are the alternative
costs of doing something else. A sole proprietaherowners of businesses should
calculatewhat they forgo in wages, rents, and interestdiyworking for someone
else, or by renting the property they use to othmrby the possibility of
converting plant and equipment to alternative ihwesit projects.

The Shape and Position of Supply Curves

In competitive markets th&hape or elasticity of supply, reflects time in the
production process, such as the immediate or masketd, the short run, and the
long run. Elasticity of supply is the relative clgann price that induces a relative
in quantity supplied. The supply curve is a lineaodiagram where the vertical
axis measures price and the horizontal axis istgyaldsually the coefficient of
elasticity is positive, meaning that a rise in prigduces an increase in the quantity
supplied. In the immediate or market periodj\@&n moment time is defined as
too short to allow for a change in output. The $ypprve is vertical, and the
coefficient of elasticity is zero.

The short run is defined as a permdficiently long to permit the

producer to increase variableinputs, usually labor and materials, but not long
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enough to permit changes in plant and equipmerd.stipply curve in the short

run is less inelastic or more elastic than in theediate period. The long run
permits sufficient time for the producer to incre@dant andequioment. The longer
the time, the greater the elasticity of supply.

Changes in supply are shifts in the position ofobgpurves. An increase in
supply is aightward movement of a supply curve, with more of the commodity
being offered for sale at each possible pr@enversely, a decrease in supply
shifts the supply to the left. An increase in sypgEn occur because sellers expect
lower prices in the future, or, as in the agriciadtisector, because bbuntiful
crops. The reverse is true of a decrease in supply. Oseogs of time long
enough for production processes to change, imprem&snn technology and
changes in input prices and productivities arentlaén causes of changes in
supply.
aggregate supply eoBokymHoOe Ipe/II0KeHHE
forthcoming —pencrosimuii
opportunity COSts -a1bTepHaTHUBHBIC U3ICPIKKU
explicit —siBHBIH, OTKPOBEHHBII
implicit — moapa3ymeBaromuics
forgo —mpenmiecTBoBaTh
to convert -o0Opaiate, mpeoOpa3oBHIBATH
shape -¢$opma
given moment -AaHHbBIIl MOMEHT
sufficiently —mocraTtouno
to permit —103BOJIATH
variable —tepemenHbIii
a variable -iepemennas
rightward movement #BrmkeHue BIIpPaBoO
conversely -Hao6opor

bountiful crops -eounbHBIN yposkaii
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Text Ne 8. Competitive Market

Competition refers to the nature of the conditionder which individuals
maytrade property rights. It assumes a definition of property rights that
individuals may trade among themselves as well@esaription of the trading
process. Acompetitive equilibrium is theoutcomeof competition. The very
existence of such an equilibrium depends on therealf the property rights.
These aspects of competition are especially impbmaconnection with the
development of new technology and new productsnatidthe use of low-cost,
large-scale methods of production and distribution.

The simplest situation in an analysis of competiteba market where
individuals havenitial endowments of commoditiesthat own and that they may
trade among themselves. All trades occur at theetane and place. The essential
characteristics remain valid when trades do naaalr at the same time and
place. However, individuals would have incompletewledgerelevant for their
decisions. This complication changes the natutee@butcome of competition.
Incomplete knowledge isevitable partly because the future is unknown. Even
S0, it is often less costly to take current actithvad will have future consequences
without knowing that these will be thanrespondonly to momentary events of
the present. The advantages of planning and negudtiposure to hazards that may
occur alter the effects of competition.

These basic considerations help to explain ther@atuproduction and why
thequantities of goods offeredwill change over time in response to the
expectations and information firms have. They abgolain why some common
notions about competition are inadequate. Amongrthéequate notions about
competition is the belief that a necessary comlitows competition is a lack of
power by any firm to affect the prices of its protiu Sometimes this is put in
another form, that competition cawistin an industry only if the demand curves
facing the individual firms in that industry ardinitely elastic so that changes in
the quantities sold by a single firm cannot aftbet product price. This condition

IS not necessary for competition. Nor is it necesa competition that the
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number of firms be so large that each one is ofigiety small size relative to the
total market for the commodities made by firmsha industry. Finally, it may be
consistent with competition that some or all firmsn industry have obtained
very high profit rates.
Pure Exchange

Assume there is a market where there are indivigdeach of whom starts
with given amounts of various commodities. Each woald like to make trades
that will result in theacquisition of goods preferred to those goods to be
exchanged. The theory assumes that for each tilael@urpose of trade is to
improve the trader’s positioklence the trader would not willigly leave the
market with a bundle of goods worth less than hisew initial holdings. The
theory also assumes that each trader owns the cditi@sao be traded, that they
can be traded on terms that are mutually acceptaltee parties directly involved
in an exchange, and that each trader may accegjeat the terms offered.
Underlying the possibility of exchange is the extigte of property rights in the
goods. Competition requir@®luntary exchangeso that no trader isompelledto
accept or reject offers without freely given corts@&ime very notion of exchange
implies, therefore, a voluntary agreement amongeliveho are directly involved in
the transaction on the terms that each one williagcepts.

In pure exchange, although the total quantitiehefcommodities
exchanged among the partiesastant,each one must regard the obtained goods
as worth more than the exchanged goods. If theegaran reach agreement on
mutually beneficial terms of exchange, the resuéin allocation of the
commodities among the individuals that must maKkeast one of them better off
than before and cannot make anyone worse off teforda

The theory assumes that no individual accepts tématsvould leave that
individual in a worse position than if no tradesattvere made. The existence of a
state of competition in pure exchange allows théigpants to seek the best terms
that they can obtain from the others. Competitioasdnot require the presence of a

very large number of traders nor does it requia¢ #ach of the individual traders
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in the market must be of such a small relative giaé none can affect the terms of
trade. Traders can makentative agreements with each other subject to the
condition that these agreements become bindingibnbne can obtain better
terms from others. The final outcome is a set chaxges among the traders such
that no individual or group of individuals can abtlaetter terms. The set of
outcomes with these attributes need not be uni@glipoossible outcomes with
these attributes represent the state of competifioa set of all possible trades that
can satisfy conditions is known as ttwre of a market. Therefore, the set of
trades induced by competition in a market is indbiee of a market.

to trade property rights eémennBath paBa Ha COOCTBEHHOCTb

competitive equilibrium -paBHOBecHe KOHKYPEHIIUN

outcome —#cxon, pe3ybTar

endowment -Bkian

relevant —COOTBETCTBYIOIIUN

Inevitable —#en36exubII

respond -eTBet

hazard -emacuocTth

guantities of goods offeredkennuectBo npeiaracMpIx TOBapOB

infinitely elastic -0eckoHe4YHO 371aCTHYHBIHI

hence -exenoBarenbHO

voluntary exchange #00poBoJibHBII 00MEH

to compel -BeIHY)XIaTh

constant 10CTOSIHHBIN

to regard as paccMarpuBaTh B KaueCTBE

tentative -ipenBaputenbHbII

core of a market ecHoBa SKOHOMUKH

86



Text Ne 9. Monopoly

Monopoly is a market structure with only a singdex of a commodity or
service dealing with a large number of buyers. Wheimgle seller faces a single
buyer, that situation is known agateral monopoly.

The most important features of market structurdlamse, which influence
the nature of competition and price determinatidre key element in this segment
of market organization is traegreeof seller concentration, or the number and size
distributions of the sellers. There is monopoly wihigere is only one seller in an
industry, and there is competition when there a@ayrsellers in an industry. In
cases of an intermediate number of sellers, thabisething between monopoly
and competition, there can be two sellers (duopalygw sellers (oligopoly), or
many sellers (atomistic competition).

Today the term monopoly is usually extended toudelany group of firms,
which act together to fix prices or levels of protion. Complete control of all
output is not necessary to exercise monopoly patgy.combination of firms,
which controls at least 80 percent of an industpytsduction, can dictate the
prices of the remaining 20 percent.

Aside from private monopolies, there are public monopoliase @ample
of a public monopoly in the United States is tlomprofit postal service. There is
also the hatural monopoly’, which exists when it is mokficient, technically,
to have a single seller.

Although theprecisedefinition of monopoly — a market structure witthyo
a single seller of a commodity or service — cam@oapplied directly to a labor
union because a union is not a seller of servliabsy unions have monopolistic
characteristics. For example, when a urdoncludesa wage settlement, which
sets wage rates at a level higher than that addegtaunorganized workers, the
union clearly contributes to monopolistic wage Hessun effect, the price of labor

(wages) is set without regard to the available supplabor.
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Monopolies verrsus Competition

Pure monopoly is a theoretical market structurera/tigere is only one
seller of a commodity or service, whenetry into the industry is closed to
potential competitors, and where the seller hagptet@ control over the quantity
of goods offered for sale and the price at whicbdgoare sold. Pure monopoly is
one of twolimiting casesused in the analysis of market structure. Theraghe
pure competotion, a situation in which there areyrsellers who can influence
neither the total quantity of a commodity or seevidfered for sale nor its selling
price. Hence, monopoly is the exacttithesis of competition. It is generally
agreed that neither of these two limiting casée tse found among existing
market structures.

The monopolisestablisheamarket position by ability to control absolutely
the supply of a product or service offered for sald the related ability to set
price. Theoretically, profit maximization is thampary objective, and it is often
possible to achieve this by restricting output #trequantity of goods offered for
sale. Levels of output are held below the quarnitigg would be produced in a
competitive situation. Hence, monopoly is of ingr®economic policymakers
because it may impede the most efficient possibbdeation of a nation’s
economic resources.

Monopolies held by individuals or organizations negin by thegranting
of a patent or a copyright, by the possessionsufpeerior skill or talent, or by the
ownership of strategic capital. The huge capita¢gtment necessary to organize a
firm in some industries raise an almosurmountable barrier to entry in these
monopolistic fields and, thus, provides establist@gborations in these industries
with potential monopoly power.

The use of such monopoly power may lead to theldpueent of substitute
products, to an attempt at entry into monopolifélcls by new firms, or to public
prosecution or regulation. The antitrust policytlo# federal government has
prevented theomination of an industry by one firm or even a few firms.

Moreover, with the growth of international tradelanvestment, it is no longer

88



possible to determine whether an effective monopgigts by studying market
shares. The recenbmpetitive pressuredrom Japanese sellers of autos and
electronic products have resulted in more competiéind less monopoly power on
the part of U. S. manufacturers. Thus, the trenthduhe last 40 years or so in the
United States has been away from monopolies in nradustries and toward
oligopolies.

bilateral monopoly -ABycTOpoHHSISI MOHOTIOJHSE

degree -ereneHb

aside from -sromumo

nonprofit —aexommepuaeckuit

efficient —addexTrBHbBIN

‘natural’ monoply —ecrecTBeHHas MOHOIIOHS

precise -To4HbIi

to conclude sakiouaTh

entry —BxoJ, BCTYIUIEHUE

to impede BaTpyaHATH

limiting cases -erpaHnunBarOIUE CIIydan

antithesis -anTuTe3uc, MPOTUBOIOJI0KHOCTh

to establish yupexnarp, ycraHaBIuBaTh

economic policymakers expaterun S5KOHOMUKH

to grant —Ber1aBath

Superior 41peBoCXOIAIIUI

insurmountable #enpeomomMeIit

domination —1peodnaxanue

competitive pressureSkeHKypeHTHOE JaBIICHUE
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Text Ne 10. Defining Marketing

A prominent economist Philip Kotler defines markgtias ‘a social and
managerial process by which individuals and groups obtain whay need and
want through creating and exchanging products ahaeg with others.” Marketing
research is used tassesghe market's response to the firm’s marketing isput
which includepromotional activities such agprice discounting, placementof in-
store displays, multimedia advertising, aadiponing expanding distribution; and
product development anednhancement.The goal of marketing research is to
assist the firm in determining the most effective, most profitable, mix of
marketing inputs given knowledge of the marketplace

As a formal scientific discipline marketing resdarbegan in the early
twentieth century with most analyses being baseduney data In the 1930s,
the A. C. Nielsen Company began collecting in-staéa using manualudits.
Today, with theadvent of scanning technology, the amount of timely data
available from stores and household panels hasmgeponentially.Coicident
with this data explosion, the data delivery systeand the techniques used to
analyse the data have become increasisgphisticated.Marketing research is an
integral part of organizations in both the consunh#able and nondurable goods
sectors, and in recent years the use of marketingiples has become increasing
prevalent among nonprofit and government sectors.

Marketing research is interdisciplinary requirindgiet knowledge of
economists, operations researchers, psychologstd, statisticians. For the
economist, the economic theory of consumer behanor the theory of the firm
provide basic building blocks. Marketing researah be viewed as an operational
or tactical activity and as a strategic activitylthdugh both activities require
knowledge of the workings of the marketplace athbibte macroeconomic and
microeconomic levels, tactical analysis focus onnnasing a product’s
performance and testing the effectiveness of maudkeprograms relative to
competitors. Strategic research involves selecting and optimgizmarketing

opportunities.
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In order to understand the marketplace, the reseamust define the
market in terms of both the geographic unit andatfegluct class and collect data.
Data on consumer purchases permit an analyst éordieie what was sold and
how particular brands performed relative to ea¢ieiotin addition to sales and
price information, causal data assist the anatyahderstanding the reason that
sales took place. Examples of causal data are @g@espdvertising, which
indicates thextent of retailer advertising support, display activiymd coupon
ads. Another important source of information foderstanding the source od sales
IS television advertising. Measuring the effectsatévision advertising is
relatively difficult owing to the dynamic effectach advertising has on consumer
behavior, however.

Once the data are collected, the analyst may chocsealuate the
information by simply looking at the raw seriesatter over time or compute
straightforward measures suchnaarket sharein order to arrive at a qualitative
assessment of market activity. Statistical mode¢ghtrbe estimated in order to
address issues suchtamporary price reduction, effectivenessthe extent of
cannibalization due to promotional activity, ileetextent to which sales of one
specific product decline as a result of promotingther similar product produced
by the same manufacturer, the competitive effefcgsamotions, differences
between markets, competitive pricing points, Emagj-term price slasticities.

Forecasting is an activity likely to be undertakgm business economist
working in a marketing research department. Conerally, business economists
have been responsible for producing forecastdfntacroeconomic environment
or for activity within industry groups. More recgntforecasting movements in
mature products categoriesin segments within categories, and in brands has
increased in importance.

Forecasting theuccess or failureof new product introductions is also
important. New product introductions require a edesable amount of a firms
resources, and failure to read the marketplacectiyrand early in the

development process can lead to costly errorsdélkelopment of a new brand
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begins with the identification of new market oppoities. Consumer survey
research directed at identifying the market respaoghe brand concept and
elements of the marketing mix, e.g., pricing, igi¢plly conducted. On the basis of
the survey a firm may decide to continue with tegedlopment plans for the brand,
revise current plans in response to the surveytseand retest, azancel
development plans completefyomparisonsmay also be made between attitudes
toward the new concepts and existing products.

managerial -ynpasiaeHueckHii

t0O assess eilcHUBATH

promotional activities AeiicTBHS 1O MPOABIKEHUIO TOBapa

price discounting HeHOBbIC CKHUIKH

placement -pa3menicane

COoupOoNiNg —#CHoJb30BaHNe KyTIOHOB

enhancement ysenuueHue, yaydlIcHHE

survey data -aanHBIC OCMOTpa

audits —1poBepku

advent —1osBiIeHHE

coincidence -eoBmnajcHue

sophisticated #3ormpeHHbIi

prevalent -ipeobagarommii

competitors KOHKYpPEeHTbI

extent -macmra6

SOurce -#1ICTOYHUK

market share #ons peiHKa

temporary price reductionspeMeHHOE CHIYKEHUE IICH

effectiveness asbhekTuBHOCTD

long-term price elasticities goarocpounas 31aCTUYHOCTD IICH

failure —mmpoBan

to cancel -ormensTh

comparison -€paBHCHHE
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Text Ne 11. IMF Means International Monetary Fund

The purpose of the International Monetary Fund (JiéRo promote
international monetary cooperation througheamanentinstitution that provides
the machinery for consultation and collaborationrgarnational monetary
problems. Specifically, the function of the IMRsfacilitate the expansion and
balanced growth of international trade, to pronwterly and stable foreign
currency exchange markets, and to contribute tangal of payments adjustment.
To further these objectives, the INtonitors members’ macroeconomic policies,
makes financial resources available to them ingdiofebalance of payments
difficulties, and provides them with technical assnce in a number of areas.

Mucn of the IMF’s work is centered @mnual consultations with each
member country to ensure that its national polimigébe area of economic growth,
price stability, financial conditions, and exchamgtes take into account their
consequences for the world economy and avoid uef&inange policies. To
ensure compliances with these bdsitets the Fund is empowered to exercise
firm surveillance over the exchange rate policies of member coumtrie

History

The IMF’s charterembodiedin the Articles of Agreement, was agreed
upon at the International Monetary and Financiatf€ence held at Bretton
Woods, New Hampshire, in July 1944. In Decembeb184 required number of
countries had ratified the agreements, and in M&826 the first meetinf of the
Board of Governors was held. The IMBmmencedoperations on March 1, 1947,
at its headquarters in Washington, D. C. Othaestonesin the history of the IMF
include:

- May 1948, first drawing of foreign exchange by anmber country;

- January 1962, adoption of the general agreemefsrtow (GAB),

which constituted an important supplement to th&’BMinancial

resources,
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February 1963, establishment of the compensatoanéing facility
designed to assist countries that experience aceryshortfall in
export earnings;

June 1969inception of the buffer stock financing facility, which cae
used to finance commodity stockpiles;

July 1969, adoption of the first amendment to thieckes of Agreement,
providing for the allocation of special drawinghrtg (SDRs) to member
countries, with the first allocation of SDRs madeJanuary 1, 1970;
September 1974, implementation of the extended facitity, which
provides medium-term assistance to member coursteielsngto
overcome structural balance of payments problems;

April 1975, establishment of an oil facility to peabdil-importing countries
finance the increase in petroleum prices;

February 1976, establishment of the Trust FunddEédrby revenues
from gold sales, to aid developing countries wa-interest assistance;
August 1977, establishment of thepplimentary financing facility to
make additional resources available to member a@sntequiring
balance of payments financing in larger amountsfantbnger periods;
April 1978. adoption of the second amendment taattieles providing
for liberalized exchange arrangements, the legi8bn of floating
exchange rates, steps designed to eliminate thefgold in the
international monetary system, amlunciation of the goal to make the
SDR the central international monetary reservetasse

March 1986, establishment of a structural adjustrfeility to provide
balance of payments assistance to qualifying mesnbesupport of
macroeconomic and structural adjustment programs;

December 1987, the establisment of the Enhancedt8tal Adjustment
Trust to provide loans on concessional terms k@& members to
support programs to strengthen substantially aradsastainable manner

their balance of payment position;
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- August 1988, expansion of the compensatory finantacility to include

a contingencyfinancing element under which additional financingy
be provided to support adjustment programs thahtig thrown off
track by adversexogenousievelopments.

permanent -HOCTOSAHHBIN

machinery -e6opyaoBaHue

collaboration -eoTpynaudecTBo

to facilitate —cmoco6¢cTBOBATH

to monitor —-HabaronaTh, KOHTPOJIUPOBATH

annual -exxeroHbIN

to avoid —u30eraTh

tenet —ocHoBOMONIArarOIMM MPUHIIUIT

embodied somonieHHbII

surveillance -frarpynupoBanue

to ratify —parudunuposars

to commence #pucrynarb

milestones sexn

shortfall —aegocrarox

Inception —oTKpbBITHE

stockpiles sanacer

amendment Hompaska

to seek —+#ickartp

supplementary #omoJHUTEIbHbII

enunciation -#310KeHHE

contingency -Bo3M0KHOCTb

€X0geNouS 3K30reHHBIN
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Text Ne 12. World Bank

The World Bank is the world’®remost intergovenmentalorganization
concerned with the external financing of the ecoicagnowth of developing
countries. The official title of the institution ke International Bank for
Reconstruction and Development (IBRD).

Before recommending a Bank loan, the staff of thalBmust be
reasonablysatisfied that the productivity of the borrwing oty will be
increased and that tipeospects for repaymentare good. A country must be
judged creditworthy. Engineering investigations faeguentlycarried out to
determine the probable relation of a proposed ptdgebenefits and costs.
Increasingly, however, the Bank has shifted soméaway from project lending;
it has become concerned with education and oth@ahtservices, the
environment, and, through structural adjustmemdo#e modification of
governmental policies that are thought to have ohegdong-run growth. The
Bank has also paid increasing attention to theuaw@in of previous lending.
Recently, moreover, it has acceded to the reqoéstie American secretary of the
treasury to help to ease the huge, outstandinggllacommercial-bank debit.

Voting power in the Bank (as well as in the Fursdjletermined by the size
of each member nation&ibscription. Subscriptions, in turn, are based on a
formula thattakes into accountsuch variables as the value of each nation’s
foreign trade and its total output. Ultimate povierpugh weighted voting, rests
with the Board of Governors of the Bank. The goweesrmeet annualy in
September. Thday-to-day affairs of the Bank are determined, however, by
executive directors who live permanently in WastongD. C. Theyire a
president, who, in turn, hires a staff. By traditioather than law, the president of
the Bank is an American, usually a banker, propasetthe President of the United
States.

Because of the size of their subscriptions, fivieoma — the United States,
Japan, Germany, the United Kingdom, and France -emtitledto appoint

executive directors; the remaining seventeen dirscre elected by some
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combination of the votes of the other nations. €ree 156 member nations, but,
with the independence into separate republicsy@mbership could increase to
over 170, thereby including all the independeniomatin the world.

The Soviet Union was one of the forty-four governisevhose
representatives signed the original Bretton Woapieements, but along with the
other members of the Warsaw Pact, it chosdomtin the Bank or the Fund when
these organizations were formally incorporated9dal

World Bank Group

In 1954, and International Finance Corporation establishedo
supplementthe World Bank by participating iaquity financing in member
countries, and in 1960, a third organization, titerhational Development
Assocoation (IDA), was created. These three orgdioizsconstitute the World
Bank Group. The IDA has the same officers and stathe World Bank, but its
separate charter enables it to offer loans to lmv@me member countries
repayable at 0.75 percent interest over 50 years.

Soft orconcessionaryassistance is made possible by contributions to
(replenishments of) the IDA by the goverbmentsighkincome (industrial)
countires. The management of the World Bank Greujpus enabled to offer rates
of interest and loan maturities which take intocaot the nature of the projects
financed and the presumed ability of borrowing goweents to service their debt.
The initial capitalization of IDA for the 5 year9@0 to 1964 was less than 1$
billion in hard currencies. By 1992, the nimdplenishmentfor 3 years will be
over 11$ billion.

Today, the World Bank ia far cry from what it was when the World Bank
began in 1946 under President Eugene Meyer — tmiietfloors of rented office
space at 1818 H Street NW and a flazenemployees. Even in the final days of
the presidency of George Woods, in 1968, the ghagofewer than 1500
employees and four buildings. As of August 31, 19%wever, on theve of the
accessiorto the presidency of Lewis Preston, former chairwiatme board of J. P.

Morgan&Co., the World Bank Group had 3 senior \pecesidents, 14 vice
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presidents, and 6500 employesestteredthrough 18 separate buildings in

Washington, D. C.; 2 large offices in Paris andyimkand 50 regional offices.
The World Bank Group has had a significant posiéffect on the flow of

capital to the poorer countires of the world, baittectly and indirectly, and

knowledge of Third World problems has increasadrmously. Still, the record of

growth isspotty. In much of East Asia, per capits income is rigiagidly, but in

Africa south of the Sahara, in South Asia, and utmof Latin America, the

growth of per capita income has been discouragisighy.

foremost intergovernmentalzantornee MexmpaBUTETLCTBECHHBIH

prospects for repaymentrepcrieKTHBBI BBITUIATHI

to be carried out #pou3BoaUTHCS

accede -ynoBIeTBOPATH

subscription -foanucka

to take into account BpuHUMAaTh B pacyer

day-to-day affairs HoBcenHeBHBIC nea

to hire —manumatn

to appoint -Ha3HaYaTh

to join —pHcoeAMHATD

to supplement #o6aBka

equity —crpaBeTHBOCTh

to constitute siBaaTHCS

to grace -yagocrausarb

concessionary #broTHbIH

replenishments sononHenus

a far cry —abconrotHo npyras Bemb

dozen —roxuna

eve of the accessiontakanyHe MpUXoja K BIACTH

to be scattered 6s1Th pazdpocaHHBIM

enormously —ipe3BbIYaiiHO

Spotty —noanopuen
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Text Ne 13. Money and its Functions

The main feature of money is its acceptancinasneans of paymenor
medium of exchangeNevertheless, money has other functions & standard
of value, a unit of account,a store of valueanda standard of deferred
payment.

The Medium of Exchange

Money, the medium of exchange, is used in onedfafmost all exchange.
Workers work for money. People buy and sell googlschange for money. We
accept money not to consume it directly but bec@isansubsequentlybe used
to buy things we wish to consume. Money is the mn@dihrough which people
exchange goods and services.

In barter economythere is no medium of exchange. Goods are traded
directly orswappedfor other goods. In a barter economy, the sehdrthe buyer
each must want something the other has to offeh Barson is simultaneously a
seller and a buyer. Thereasdouble coincidence of wants.

Trading is very expensive in a barter economy. Remist spend a lot of
time and effort finding others with whom they caaka mutually satisfactory
swaps. Since time and effort are scarce resouadesiter economy is wastefull.

Money is generally accepted in payment for gooelsjises, and debts and
makes the trading process simpler and more efticien

Money can also serve as a standard of value. §amesiders it convenient
to use a monetary unit to determine relative coktsfferent goods and services.
In this function money appears as the unit of antas the unit in which prices
are quoted and account are kept.

To be accepted in exchange, money has to be acfteadue. Money is a
store of value because it can be used to make gsshn the future.

Houses, stamp collections, and interest-bearing baoount all serve as
stores of value. Since monpgys no interestand its real purchasing power is

erodedby inflation, there are almost certainly betteys/éo store value.
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Finally, money serves as a standard of deferrechpayor a unit of account
over time. When you borrow, the amount to be repait year is measured in
money value.

Different Kinds of Money

Golden coins are the examplescommodity money, because their gold
content is a commaodity.

A token moneyis a means of payment whose value or purchasingipas
money greatly exceeds its cost of production oueyath uses other than as money.

A $10 note is worth far more as money than as ar3{6 piece of high-
guality paper. Similarly, the monetary value of lnosins exceeds the amount you
would get bymelting them downand selling off the metals they contain. By
collectively agrreeing to use token money, soosetynomizes on the scarce
resources required to produce money as a mediwxablange. Since the
manufacturingcosts are tiny,why doesn’t everyone make $10 notes? The
essential condition for the survival of token moimsethe restriction of the right to
supply. Private production is illegal.

Society enforces the use of token money by makilegal tender.The law
says it must be accepted as a means of paymanbdern economies, token
money issupplementedby IOU money.

An IOU money is a medium of exchange based in &l df a private firm
or individual.

A bank deposit is IOU money because it is a delth@bank. When you
have aank depositthe bank owes you money. You can write a cheque to
yourself or a third party and the bank is obligegay whenever the cheque is
presented. Bank deposits are a medium of exchasxpbe they are generally
accepted as payment.
the means of paymentcpenctso miatexa
medium of exchange epencto obOpamienus
a standard of valuemepa croumoctu

a unit of account exuHuUIEB! yueTa
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a store of value epencrBo coepexeHus

a standard of deferred paymentpenctso morameHus jonira
subsequently smocneacTeuun

a barter economy éaprepHasi 5KOHOMHUKA

to swap -oomMeHuBaTh

to hand over in exchangerepenats

a double coincidence of wantsisoiiHoe coBnaeHe nmorpedHocTei
a monetary unit AeHe)xHas eIUHULA

to remind of -nanmomuHAaTH

to be worthless ebecniernBarbcs

an interest-bearing bank accountier B 0aHKe ¢ BBIILIATOM MPOLICHTOB
to pay interest HpUHOCHUTH MPOIIEHTHBIN T0XO0/

to erode -ymeHbIIATHCS

hard currency #Bepnas (koHBepTHpYEMas) BaIiOTa

soft currency -HekoHBepTHUpyEeMast BaIIOTa

invariably —Hen3smeHHO

commodity money -AeHpru-roBap

token money -eumBoIMYeCKUE ASHBIH ()KETOHBI)

to melt down -pacriaBuTh

tiny costs -mu3epHbIe 3aTpaTh

to supplement #omnoaHATH

legal tender 3akoHHOE TIIATEKHOE CPEIICTBO

a bank deposit sxiaa B 0aHke

IOU money (I Owe Your Bam T0JDKEH) JIEHBI'H — IOJITOBOE 00S13aTEIbCTBO
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Text Ne 14. Inflation

Inflation is generally defined aspersistent risein the general price level
with no corresponding rise in output,which leads to a corresponding fall in the
purchasing power of money.

In this section we shall lodiriefly at the problems that inflation causes for
business and consider whether there arepatgntial benefitsfor anicnterprise
from an inflationary period.

Inflation varies considerably in its extent and severityHence the
consequences for the business community differrdoggpto circumstance#lild
inflation of a few per cent each yeaay pose few difficulties for business.

However, hyperinflation, whickntails enormously high rates of inflation,
can create almostsurmountable problems for the government, business,
consumers and workers. In post-war Hungary, theafds/ing was published
each day and workers were paid daily so as to aheidalue of their earnings
falling.

Businesses would have experienced great diffienlgositng and pricing
their production while the incentive for peoplestove would have been removed.

Economists arguat length about the causes of, and “cures” for, inflation.
They would, however, recognize that two genera¢sypf inflation exist:

- Demand-pull inflation

- Cost-push inflation

Demand-pull Infaltion

Demand-pull inflation occurs when demand for a nation’s goods and
services outstrips that nation’s ability to supiblgse goods and services. This
causes prices to rise generally as a means ofrigniiemand to the available
supply.

An alternative way that we can look at this typeéndtation is to say that it
occurs when injections exceed withdrawals and toa@my is already stretched

and there is little scope to increase furtheratel of activity.
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Cost-push Inflation

Alternatively, inflation can be of the cost-pushiety. This takes place
when firms face increasing costs. This could beseduiy an increase in wages,
the rising costs of imported raw materials and comgmts or companies pushing
up prices in order to improve their profit margins.
a persistent rise HeyKJIOHHBIH MOAbEM
with no corresponding rise in outputie- conPoOBOXKTAIOLTUICS TOAHEMOM
POU3BOJICTBA
briefly —xopotko
potential benefits #oTeHIMaTBHBIEC BBHITOIBI
varies considerably in its extent and severifpmaeT pa3Hoi 110 JUIUTEIBHOCTH U
OCTPOTE
hence -exenoBsarebHO
mild inflation —msrkas nadsIUS
may pose few difficulties eco6srx mpobiiem He peacTaBseT
entails enormously high rates of inflatiomaeder 3a coboit rpoMaHbIii POCT
uHIAIIHR
Insurmountable Hencuecnrmbie
at length - ceiiuac
to pull —tsaYyTH
demand-pull infaltion H}sIKs cripoca, BeI3BaHHAS MPEBBIIIIEHUEM CIIPOCa HaJT

MPEJI0KEHUEM
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Text Ne 15. Inflation and Business

Inflation can adversely affect business in a nundbevays:

1. Accounting and financial problems.

Significant rates of inflation can cause accounéingd financial problems for
businesses. They may experience difficulty in veguassets and stocks, for
example. Such problems can waste valuable managéimenand make
forecasting, comparisons and financial control nmrerous.

2. Falling sales.

Many businesses amy experience falling sales dumifagionary periods for
two broad reasons. Firstly, it may be that savisgsrin a time of inflation. We
would expect people to spend more of their monegnwtrices are rising to avoid
holding an asset, which is falling in value. Howeiring the mid-1970s, when
industrialized nations were experiencing high imdla rates, savings as a
proportion of income rose! It is not easy to idBnthe reasons for this, but some
economists suggest that people like to hold aivelgthigh proportion of their
assets in a form which can tie quickly convertdd cash when the future is
incertain.

Whatever the reason, if people save more they sigssdand businesses
suffer falling sales, The economic model predibtd tf savings rose the level of
activity in the economy would fall. Clearly, if ;ihappened we would expect
businesses to experience diffiiculty in maintainihgir levels of sales.

Businesses may be hit by a reduction in sales garitime of inflation for a
second reason. As inflation progresses, it isyikleht workers’ money wages (that
Is, wages unadjusted for inflation) will be incredsroadly in line with inflation.
This may well take a worker into a higher tax betcknd result in a higher
percentage of his or her wages being taken agtas process, known as fiscal
drag, will cause workers to have less maony aviglaspend on firms’ goods
services. The poverty trap has a similar impactmasey wages rise, the poor
may find that they no longer quality for state déa¢o supplement their incomes

and at the same time they begin to pay uncomertaker earnings. Again, this
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leaves less disposable income to spend on thetooftfioms. Finally, it may be
that the wages of many groups are not index-lirdkai so they rise less quickly
than the rate of inflation, causing a reductiospending power and demand for
goods and services.

Once again, the economic model can be used togbitbdt increases in the
level of taxation will increase withdrawals, lowmgithe level of economic activity
and depressing firms’ sales.

Not all businesses will suffer equally from dedligidemand in an
inflationary period. Those selling essential iteswg;h as food, may be little
affected whilst others supplying less essentiadgamnd services, such as foreign
holidays, may be hard hit.

3. High interest rates.

Inflation is often accompanied by high interesesatHigh interest rates tend
to discourage investment by businesses as thegaserthe cost of borrowing
funds. Thus, invetsment may fall. Businesses msy laé¢ dissuaded from
indertaking investment programmes because of adhcknfidence in the future
stability and prosperity of the economy. This falinvestment may be worsened
by foreign investment being reduced as they alse sfmme confidence in the
economy’s future.

Such a decline in the level of investment can tedalisinesses having to
retain obsolete, inefficient and expensive mearmaduction and cause a loss of
international competitiveness. Finally, a fall nvestment can lower the level of
economic activity, causing lower sales, output sm@n. Thus, to some extent,
businesses can influence the economic environmeshich they operate.

4. Higher costs.

During a bout of inflation firms will face higheosts for the resources they
need to carry on their business. They will havpap higher wages to their
employees to compensate them for rising pricespl&sgof raw materials and fuel
will become more expensive as will rents and rales. inevitable reaction to this

Is that the firm has to raise its own prices. Miislead to further demands for
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higher wages as is called the wage-price spiralh$ost-push inflation may make
the goods and services produced by that enternptesaationally less competitive
in terms of price. An economy whose relative or pamative rate of inflation is
high may find that it is unable to compete in hamnéoreigh markets because its
products are expensive. The economic model teltbatsa situation of declining
exports and increasing imports will lower the legkactivity in the economy with
all the consequent side-effects.

impact —ynap, BausHIE

waste valuable managementiesketr yxoauTh MHOTO JParoleHHOTO BpEMEHH
make more onerouscaenars 6oee 3aTPyIHUTEILHBIM

to avoid holding an asset#o0b1 H30aBUTHCS OT HATMYHOCTH

whatever the reasonkaxoBa Obl HA OblIa PUIHHA

businesses may be hit byb#pmer MoryT moctpagats ot

wages unadjusted for inflatiomapaborHas miara 6e3 yuera ypoBHS HHOIAIUH

a higher tax bracketesienyromas kareropust npu rpynmiupoBKa
HAJIOTOTLIATEIIBIIUKOB 110 JI0XO1Y

fiscal drag -buHaHCOBBIN TOPMO3 IKOHOMHUYECKOTO POCTA C IOMOIIBIO HAJIOTOBBIX
U3bATUN

they no longer qualify for exu Gosblie He MOAMAIAIOT O

to supplement their incomeso sABiIsIETCS JOMOJTHEHHEM K UX JIOXOIY

this leaves less disposable incomes-3a 3Toro ocraeTcst MEHbIIIE CPECTB
index-linked —rxekcupoBaHHbBIH

a reduction in spending powermnKkeHHe TOKYaTeIbCKOW CITOCOOHOCTH
declining demand #anenue crpoca

tend to discourage investmentie-crioco0CTBYIOT HHBECTHPOBAHUIO

may also be dissuaded fronmeryT TakK 0TKa3aThCs OT

a lack of confidence #enocTaTok yBEepeHHOCTH
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this fall in investment may be worsened by foramrestment being reduced®o
MMaJICHUC YPOBHA THBCCTUPOBAHUA MOKCET CTATh CLIC cuibHeeO ecin COKpaTATCA
HMHOCTPAaHHBIC HHBCCTULINH

can lead to businesses having to retaytosxer nmpuBecTr K TOMy, 4TO pUpMam
IMPUACTCA COXPAHUTD

a bout of inflation -fiepron nuG IR

less competitive in terms of pricevenee KOHKYpEHTHOCTIOCOOHBII B CMBICTIE

LIEHBI
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